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Question Number : 1 Question Id : 615475155 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the two zetz given below. Set I provides levels of teaching while Set II gives their focus of
concern :

Set I Set II
(Levels of Teaching) (Focus of concern)
(a) Autonomous development level (1)  Problem raising and problem solving
(b) Memory level (1) Affects and feelings
(c) Understanding level (1m1) Recall of facts and informations
(d) Reflective level (1v) Seeing of relationship among facts and

their examples

(v) Peer learning

Select correct answer from the options given below :

(1) (a)-(1). (b)-(11). (c)}-(1v). (d)-(v)

(2) (a)-(1), (b)-(1v). (e)-(111). (d)-(11)
(3) (a)-(11). (b)-(111), (c)-(xv). (d)-(1}
(4) (a)-(v). (b)-(1v). (c)-(11). (d)-(11)
Options:

15475601 1

15475602 2

615475603 3
E15475604. 4

Question Number : 1 Question Id : 615475155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1). (b)-(11). (c)-(v). (d)-(v)

(2) (a)-(1). (b)-(1v). (c)-(111). (d)-(11)

(3) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)

(4) (a)-(v). (b)-(av). (c)-(11). (d)-(11)
Options:

E15475601. 1
B15475602. 2
6154756032 3
615475604 4

Question Number : 2 Question Id : 615475156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the context of classroom teaching. the foundation on which a warm and nurturing
relationship with learners can be built 1s called :

(1) Probing (2) Teacher Affect
(3) Structuring (4) Feedback
Options:

615475605, 1
E15475806, 2
E15475607. 5
615475608 4

Question Number : 2 Question Id : 615475156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E15475805 1
BE15475606. 2
615475607, 5
615475608 4

Question Number : 3 Question Id : 615475157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the list of learning outcomes indicated below. identify those which are said to be high
level outcomes :

{(a) Learning of facts and rules

(b} Showing the abilitv to analvse and svnthesize
(c) Awareness. responding and valuing

(d) Imitation. manipulation and precision

(e) Articulation and naturahzation

(f) Organization and characterization

Select correct answer from the options given below :

(1) (b), (e) and (f) (2) (a). (b) and (c)
(3) (b). (¢) and (d) (4) (a). (c) and (D
Options:

15475609
15475810,
15475611,
6154756152

o LIRS

Question Number : 3 Question Id : 615475157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154756039, 1
BE15475610. 2
515475611 5
615475612 4

Question Number : 4 Question Id : 615475158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following sequences correctly reflects the evolution of educational

technology support in higher education?

(D) Programmed learning material, text book support, online and modular material

(2) Text book supplementation, programmed learning material, modular material and

online methods

(3) Modular material, programmed learning, online and text book supplementation

(4) Online methods, modular material, text-book supplementation and programmed

learning material
Options:
1547561321
615475614 2
615475615 o



E15475616 4

Question Number : 4 Question Id : 615475158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£15475613 1

BE15475614. 2
615475615 5
615475616 4

Question Number : 5 Question Id : 615475159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the two zets given below 1n which Set I mentions levels of measurment and Set II
their properties :

Set I Set I
(Levelz of measurement) (Properties)
(a) Nominal (1)  Classification. order. equal umits and
absolute zero
(b)  Ordinal (1) Claszsification. order and equal units
(c) Interval (111) Classification
(d) Ratio (1v) (Classification and order

Select correct answer from the options given below :

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(1m). (c)-(1v). (d)-(1)
(3) (a)-(11). (b)-(1). (c)-(11). (d)-(1v)
(4) (a)-(111). (b)-(v). (c)-(1). (d)-(1)



Options:

615475617, 1
154756818 2
15475819 =
15475620 4

Question Number : 5 Question Id : 615475159 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single

Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1)., (b)-(i1), (c)-(1i1), (d)}-(1v)
(2) (a)-(11). (b)-(111). (c)-(av). (d)-(1)
(3) (a)-(111). (b)-(1). (e)-(11). (d)-(1v)
(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options:

615475617 1

615475618, 2

E1547561%9. =5
615475620 4
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Question Number : 6 Question Id : 615475160 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single

Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



Identify the tests from the list given below. which are maximum performance tests in the

context of research :

(a) Personality tests
(b) Projective personality tests
(c) Achilevement tests

(d) Attitude tests
(e) Intelligence tests

(f) Aptitude tests

Choose correct answer from the options given below :

(1) {a). (b) and (c) {2) (b) (c) and (e)
(3) (c). (e) and () (4) (a). (d) and ()
Options:

E154756210 1
B15475622. 2
615475623 5
615475624 4

Question Number : 6 Question Id : 615475160 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154756211
6154756822 2
154756822 2
615475624 4

Question Number : 7 Question Id : 615475161 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research 1s cyvelic in nature?

(1) Fundamental research

(2) Applied research

(3) Action research
{4) Evaluative research
Options:

615475625 1
B15475626. 2
E15475627. 3
E154756258. 4

Question Number : 7 Question Id : 615475161 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475625 1
15475626 2
615475627 o
615475628 4

Question Number : 8 Question Id : 615475162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which of the following sampling methods emploved 1n research. the units comprising the

sample are given equal and independent chance?

(1) Stage sampling
(2) Cluster sampling
(3) Dimensional sampling

(4) Snowball sampling

Options:

615475629, 1
615475630 2
615475631
15475632 4

Question Number : 8 Question Id : 615475162 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

615475629, 1
6154756230 2
615475631
615475632 4

Question Number : 9 Question Id : 615475163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The 1ssue of research ethics becomes relevant in which of the following stages of rezearch?

(a) Problem selection

(b) Hypothesis formulation

(c) Hypothesis testing

(d) Data analysis and interpretation

(e) Defining of research population

Select correct answer from the following options :

(1) (a) and (b) (2)  (c) and (d)
(3) (b} and (e) (4) (c)and (e)
Options:

BE15475632. 1
E15475634. 2
615475635 5
E154756326. 4

Question Number : 9 Question Id : 615475163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E15475633 1
E15475634. 2
E15475635 5
615475636, 4

Question Number : 10 Question Id : 615475164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which type of qualitative research designs. individual stories to describe the lives of
people are explored?

(1) Ethnography (2) Grounded theory research
(3) Svmbolic interaction (4) Narrative research
Options:

615475637, 1
E15475638. 2
E15475638. 2
E15475640 4

Question Number : 10 Question Id : 615475164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475637, 1
615475638 2
E15475639. 3
E15475640. 4

Question Number : 11 Question Id : 615475165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mini-summaries at the end of each class 12 called

(1) Verbal break-up

(2) Chichéd conclusion

(3) Verbal signposting

(4) Staggered conclusion
Options:

615475641, 1
E1547564Z2 2
E15475643 3
B15475644 4

Question Number : 11 Question Id : 615475165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
615475641 1

E15475642. 2
E15475643. 5
515475644 4

Question Number : 12 Question Id : 615475166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Micro expressions, as part of classroom communication. are

(1) negative

(2) positive

(3) manipulative

(4) fleeting
Options:

B15475645 1
B15475646. 2
615475647 3
615475645 4

Question Number : 12 Question Id : 615475166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475645 1
E1547564E, 2



E15475647. 3
615475648 4

Question Number : 13 Question Id : 615475167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are essential for good classroom communication?

(a) Over-emphasis on certain words
(h) Use of gobbledvgook

{c) Proper emplovment of redundancy
(d) Immediacy of feedback

(e) Non-verbal cues

(f) Sidelining student criticism

Choose the correct option from the following :

(1) {(a). (b) and (c) (2) (b). (e¢) and ()
(3) {c). (d) and (e) (4) (d). (e) and (D
Options:

615475649 1
E15475650. 2
615475651 3
E15475652. 4

Question Number : 13 Question Id : 615475167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475649 1
615475650, 2
E15475651. 3
615475652 4

Question Number : 14 Question Id : 615475168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pitch of the teacher's voice in the classroom 1s described as

(1) Linguistic (2) Paralinguistic
(3) Non-linguistic (4) Macro-hnguistic
Options:

E15475653. 1
E15475654 2
615475655 5
615475656 4

Question Number : 14 Question Id : 615475168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E15475654. 2
615475655 5
615475656, 4

Question Number : 15 Question Id : 615475169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One 15 labelled as Assertion (A) and the other 1s labelled
as Keazon (R).

Assertion (A) ; If a teacher wants to 1improve his or her abilities as an effective classroom
communicator. he or she should first understand the students.

Reasons (R) : The ability to understand students and intended listening are disjointed
propositions.

In the light of the above two statements. choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 15 false. but (R) 12 true

Options:

15475857 1

CL1E47EEEE. 2

E1547EEEGD 2

C1E475EE0 4

Question Number : 15 Question Id : 615475169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
154758571

E15475658. 2
E15475659. 5
6154756680 4



Question Number : 16 Question Id : 615475170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the missing term in the series given below?

2,4, 6,12, 10, 36, 14,72, 13,324, .....

(1) a0 (2) T2
(3) 108 (4) 18
Options:

BE15475661. 1
B154756682. 2
615475663 3
E15475664. 4

Question Number : 16 Question Id : 615475170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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2. 4,6,12,.10,36,.14, T, 18, 324, ...

(1) 50 2y 72
(3) 108 (4) 18
Options:

615475661, 1
E15475E6Z. 2
E15475EE3. 3
E15475664 4

Question Number : 17 Question Id : 615475171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Apoorav 1z son of Madhu. Vinod 1s brother of Madhu's husband. How 15 Apoorav related to
Vinod?

(1) Uncle (2) Brother
(3) Nephew (4) Cousin
Options:

E15475665. 1
E15475E66. 2
E15475667. 5
E15475668. 4

Question Number : 17 Question Id : 615475171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154756685 1
E15475666. 2
E15475667. 3
E15475E68. 4

Question Number : 18 Question Id : 615475172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In a certain code "ENGLAND" 1z written as “ULSNYLV". Using the same code. “IRELAND”

will be written as

(1) HQUNYLV (2) QHUNYLV
(3) QUHNYLV (4) HUQNYLV
Options:

6154756639 1
B15475670. 2
BE15475671. 5
B15475672 4

Question Number : 18 Question Id : 615475172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
5 “ENGLAND” 1 & “ULSNYLV" 2 1 3di e 9™ %1 $9m &4 T “IRELAND” # %2
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(1) HQUNYLV (2) QHUNYLV
(3) QUHNYLV (4) HUQNYLV
Options:

615475669 1
E15475670. 2
615475671 3
B15475672 4

Question Number : 19 Question Id : 615475173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of two numbers @ and b 1s 3 : 7. After adding 9 to each number. the ratio becomes
9 :17. The numbers ¢ and b are :

(1) (6. 14) (2) (9. 21)

(3) (15. 35) (4) (18.42)

Options:



B15475673. 1
615475674 2
615475675 5
E15475676. 4

Question Number : 19 Question Id : 615475173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
a AR b MG 3 : 78| TIh G § 0 Fied T A2 I 9 : 17 2 911 ¢ a1 @ 3 b Ffcifigd §
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(1) (6, 14) 2y (9, 21)
(3) (15, 35) (4) (18, 42)
Options:

615475673 1
615475674 2
E15475675. 3
E15475E76. 4

Question Number : 20 Question Id : 615475174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term 1n the series

AT. EQ, IN, OK. .....is

(1) UH (2)y UP
(3) Uus (4) UU
Options:

615475877 1
G15475678. 2
E15475673. 3
E15475680. 4

Question Number : 20 Question Id : 615475174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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AT. EQ, IN. OK. .....

(1) UH (2) UP
(3) us (4) UU
Options:

E15475677. 1
BE15475678. 2
B15475679. 3
615475680 4



Question Number : 21 Question Id : 615475175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Evervone 1s going to the party. You should go too.” This inference commits which kind of
fallacy?

(1) Ad Populum (2) Eguivocation
(3) Ad Verecundiam (4) Ad Ignorantiam
Options:

15475681 1
E1547568Z2. 2
E15475683. 5
E15475684 4

Question Number : 21 Question Id : 615475175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475681 1
615475682 2
E15475683. 3
E15475684. 4

Question Number : 22 Question Id : 615475176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“All students cleared their examination” and “Few students did not clear their examination”.

This 18 an instance of

(1) Contradictories (2) Superaltern
{(3) Subaltern (4) Contraries
Options:

E15475685. 1
B15475686. 2
615475687, 5
E15475688. 4

Question Number : 22 Question Id : 615475176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt B T A ofEm S R qen cwae 2En 3 A olfien 395 a8

7z FitFd 0 O T 39 27

(1)  Tadremam (2) AgTHE (T A2 )
(3)  ITEEr (4)  TaIETames
Options:

E15475685. 1
E15475E8E. 2
E15475687. 5
E15475688. 4

Question Number : 23 Question Id : 615475177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Product of two consecutive integers 1s divisible by 2. Therefore 4 x 5 (=20) 1= divisible by 2.

This 1s an example of which tvpe of Reasoning?

(1) Abductive (2) Informal
(3) Inductive (4) Deductive
Options:

E1547568%9. 1
615475630, 2
E15475631. 5
B15475632. 4

Question Number : 23 Question Id : 615475177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
21 HIF qUIRT 1 OERA TE 2 H a9y 21 34, 4 x 5 (=20) T 2 faurT 2

7 750 TH1 F 9% 1 35 27

(1) HAITHATH* (2 ST
(3)  STITEATHE (4) FTEETEE
Options:

515475689 1
615475630, 2
615475631 5
615475632 4

Question Number : 24 Question Id : 615475178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The distinction between laukika and alaukika is made with reference to which one of the
following pramanas?

(1) Anumana (Inference) (2) Upamana (Comparison)
(3) Pratvaksa (Perception) (4) S'abda (Verbal testimony)
Options:

BE15475E392. 1
B15475634. 2
B15475635 5
615475636, 4

Question Number : 24 Question Id : 615475178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fr=afafiga 1 o g v & g § SfERs 99 IreilEsT % 9 379 3 R w27

(1) H4HH (2) 3J9HHA
(3) Tcg4 (4) Tleqg
Options:

E15475633. 1
615475634 2
E15475635 5
E15475636. 4

Question Number : 25 Question Id : 615475179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Some students are sincere’ 1s an example of which preposition?

(1) Universal Affirmative (2) Umniverszal Negation
(3) Particular Affirmative (4) Particular Negation
Options:

B15475637. 1
615475638, 2
E15475639 5
615475700 4

Question Number : 25 Question Id : 615475179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“FF BH FAAMEE 27, T2 50 TFR F THA F1 35w 27

(1)  OE9H @99 (2) T e
(3)  faum faem (4) TafTe fHug
Options:

615475837, 1
615475638, 2



E15475639. 5
615475700, 4

Sub-Section Number: 2
Sub-Section Id: 6154759
Question Shuffling Allowed : Yes

Question Id : 615475180 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

Q. No. 26-30

The following table gives the percentage of marks obtained by five students in five subjects.
Maximium marks in each subject are given in the parenthesis below the subject name.

Percentage (%) Marks obtained
Student | Maths | Chemistry | Physics | English Physical Education
(100) (150) (150) (100) (100)
A 90 80 95 S0 a0
B 80 75 a0 70 80
C 100 95 95 85 a5
D 5 70 60 65 60
E 60 a0 65 50 70

Sub questions

Question Number : 26 Question Id : 615475181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The ageregate of marks obtained by E 1s :

(1) 252.5 (2) 2b1.5
(3) 353.5 (4) 3bH2.56
Options:

E154r5701. 1
B15475702. 2
B154757032 3
615475704 4

Question Number : 27 Question Id : 615475182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s the difference between ageregate marks obtained by A and C?

(1) 40.5 (2 41.5
(3) 42.5 (4) 43.5



Options:

615475705 1
15475706 2
E15475707. 2
615475708 4

Question Number : 28 Question Id : 615475183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which subject. the students have obtained lowest average (%) percentage of marks?

(1) Chemistry (2) Physics
(3) English (4) Physical Education
Options:

615475705 1
615475710 2
E15475711. =2
B15475712 4

Question Number : 29 Question Id : 615475184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The agegregate percentage of marks obtained by C are :

(1) 92.20% (2) 94.17%
(3) 95.21% (4) 91.17%
Options:

5154757121
615475714 2
615475715 3
E15475716. 4

Question Number : 30 Question Id : 615475185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average percentage of marks obtained by the students in Chemistry?

(1) T4% (2) 7T9%
(3) 80% (4) 81%
Options:

615475717 1
615475718 2
E1547571%9. =2
B15475720 4

Question Id : 615475180 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)



Cuesticon Label | Comprehension

o5 9. 26 T 30

ffeafiga arfasr 8 o= fasdl ° 99 @0 g wie =6 T 3 SR giasEan g 2| ueas e o g
fama % 7 % 9= e I ™ 2

(100) [ (150) | (150) | (100) (100)
A 00 30 95 30 90
B 30 75 90 70 80
C 100 95 95 85 95
D 75 70 60 65 60
E 60 50 65 50 70

Sub questions

Question Number : 26 Question Id : 615475181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 25325 (2) 251.b
(3) 3535 My 3525
Options:

6154757011
E1547570Z 2
615475703 3
B15475704. 4

Question Number : 27 Question Id : 615475182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 40.5 (2) 41.

L

(3) 42.5 (4) 43.5

Options:

615475705,
615475706,
615475707
615475708

e 1 P



Question Number : 28 Question Id : 615475183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o Tam3 O @i 9 a0 J9d (%) 9faea a3 9 5 27

(1) ™A fagm (2) fifR fagm
(3) AU (4)  FIHTER T
Options:

615475709 1
615475710 2
E15475711. 3
615475712 4

Question Number : 29 Question Id : 615475184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

C ZFT & Thd- Sid9id 33 919 foha T 7

—

(1) 92.20% (2) 94.17%
(3) 95.21% (4) 91.17%

Options:

6154757121
15475714 2
615475715 5
615475716 4

Question Number : 30 Question Id : 615475185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T T3 § B w1 Aieg gfaee uTeE = e

(1) 74% (2) 79%
(3) 80% (4) 81%
Options:

615475717 1
615475718 2
E1547571%9. =2
B15475720 4

Sub-Section Number : 3
Sub-Section 1d: 61547510
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 615475186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s a programming language?

(1) Deep learning (2) Machine learning
(3) Artificial Intelligence (4) Python
Options:

B154r5721. 1
B1547572E 2
615475723 3
615475724 4

Question Number : 31 Question Id : 615475186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TtertEa O % U e 9 g v

(1) 2 = (2) HIE AR
(3)  Fhm gig (4) TEEH
Options:

B15475721. 1
B1547572E 2
E15475723 3
615475724 4

Question Number : 32 Question Id : 615475187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match Last I with Last II.

List I List IT
(a) WWW (1)  Volatile memory
(by JAVA (1) Non-volatile memory
(c) RAM (1) World Wide Web
(d) ROM (1v) Programming language

Choose the correct option from the following :

(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-{1)
(3) (a)-(111). (b)-(av). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
Options:

6154757251

E15475726 2

E15475727. 2

615475728 4

Question Number : 32 Question Id : 615475187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 &1 ge1-11 4 oo &4

=1 = -11
(a) =g Zog 3 (WWW) (i)  THEd-Efe i
(b) ST (JAVA) (1)  T-giEdEie Jid
(¢) 1M (RAM) (ii1) des 92g 99
(d) ™ (ROM) (iv) ST e
Fefafga 8 4 w@ fawen 94

(1) (a)-(1). (b)-(11). (e)-(111). (d}-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (¢)-(11). (d)-(111)
Options:
615475725, 1
615475726, 2
615475727, 3
615475728, 4

Question Number : 33 Question Id : 615475188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which description 1s appropriate among the following for ‘E-Governance'?

(1) To engage. enable and empower the citizens

(2) To provide fair and unbiased services to the citizens
(3) To provide technology driven governance

(4) To ensure people’s faith in E-Commerce applications
Options:

B15475729. 1
615475730 2
615475731 3
E1547573Z2 4

Question Number : 33 Question Id : 615475188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ST = 9rfier, g9n 3T o9 990
(2) AT 1 A 3T 9EE e Tan
(3) SR ATed T9EE ST

(4)  S-FOE FITEM H F9 1 Avaw g w7

Options:

615475729 1
E154757320 2
615475721 5
615475732 4

Question Number : 34 Question Id : 615475189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a search engine?

(1) Internet
(2) Bing
(3) Skvpe

(4) Acrobat Reader

Options:

6154757331
£15475734 2
E15475735 2
615475726 4

Question Number : 34 Question Id : 615475189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ffetfgd § & #1 0F #+ 3949 27
(1) =22
(2) Tam

(3) h1ET (skype)

(4) UhieZ 1=t

Options:
6154757321
615475734 2



B15475735 3
615475736, 4

Question Number : 35 Question Id : 615475190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Aszertion (A):  The internet 1s a collection of interconnected computer networks, linked by
transmission medium such as copper wires. fibre-optic cables. wireless

connections ete.

Reasons (R) : World Wide Web 1s a collection of interconnected documents.
In the right of the above two statements, choose the correct answer :

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A)
(2) Both {(A) and (R) are true. but (R) 1s not correct explanation of (A)
(3) (A) 1s true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:

6154757371
615475738 2
E15475739 2
615475740, 4

Question Number : 35 Question Id : 615475190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



J 31 F9F 120 0 €, U F AEEE (A) 3R 35 F T (R) Fa ™ E

HTFAE (A) 2202 Ad: TANAA FO2L J2a9H] #1 U% d9=4 & 91 914 & dr, FEa-J1es Fad,

ACTH F99H, TANE 48 J=00 HIAH] ¥ 21 26 2

% (R) : des 15 99 3d: TAlEd Yord| %1 T g0= 2|
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(1) (A) 3 (R) ZHT1 |21 2 31 (R). (A) =l T2 == 2
(2) (A) FT (R) SET B8 ¢ 3T (R). (A) il T =041 T2l ¢
(3) (AT 2, 5 (R) T 9E 2

(4) (A Td TE 2. T (R) T8 2

Options:

6154757371
615475738 2
E15475739 2
615475740, 4

Question Number : 36 Question Id : 615475191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the Sustainable Development Goals from the list given below :
(1) Zero Hunger
(11) Quality Education
(m) Universal Primary Education
(iv)  Clean Water and Sanitation
(v) Green Agriculture

(vi) Climate Action

Select correct answer from the options given below :

(1) (1). (11). (111) and (1v) (2) (1. (111). (1v) and (v)
(3) (111). (1v). {v) and (1) (4) (1). (). (av) and (v1)
Options:

E154r5741. 1
B15475742 2
615475742 3



B15475744 4

Question Number : 36 Question Id : 615475191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tafafgs § o guwoim fTm + =251 Ff 72=3r Fifau
(D A I (S W)

(i)  ToTEETgel e

(iii) T gries e

(iv) =g 9o AR ==gdl

(V) i Fi

(vi)  FeIar] H

!:. F (i r-r- r “ﬁﬁﬂ%ﬁ'mﬂr ,ﬁ|:_'.1:

(1) (1), (i1), (i11) 37 (iv) (2) (). (). (iv) 3 (v)
(3) (iii), (iv). (v) 3 (1) (4) (1. (1i). (iv) 3T (v1)
Options:

615475741, 1
B15475742 2
B15475742 3
615475744 4

Question Number : 37 Question Id : 615475192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the following two sets. Set I lists the names of states. while Set II indicates state

specific missions.

(a)
(b)
(c)
(d)

Set I
Andhra Pradesh
Gujarat
Maharashtra

Rajasthan

(1)
(i1)
(111)

(1v)

Set II
Mukhya Mantri Jal Swavalamban Abhivan
Jalvukt Shivar Abhivan
Neet:1 Samrakshana Udvamam

Sujalam Sufalam Jal Abhivan

Select correct answer from the options given helow :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(a)-(11). (b)-(1). (e)-(av). (d)-(111)
(a)-(111), (b)-(1v). (c)-(11). (d)-(1)

BE154r5745 1
B15475746. 2
B15475747. 3
615475748 4

Question Number : 37 Question Id : 615475192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TeAfatad 21 #2911 gifed itay| T2-1 § T4 % 919 311 3201 § = fafse whem (e e g
071 211
(a) 319 929 (1) HEAEH I FEEead JiaE
(b) T (1) eI Sal ANEH
(c) THEATE (ii1) T TEE 3=my
(d) TTEEH (iv) HSH TFAH T 3=
Tefaiad @%ed] 8§ T T2l 301 &1 994 <0
(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-{1)
(3) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(4) (a)-(111). (b)-(1w). (c)-(11). (d)-(1)
Options:

E15475745 1



B15475746. 2
615475747 3
615475748 4

Question Number : 38 Question Id : 615475193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Average nolse levels 1n heavy traffic zones 1in major cities in India are generally in which of
the following ranges of noise levels?

(1) 31-40 dBA (2) 41-50dBA
(3) 70-95 dBA (4) 110-120 dBA
Options:

E15475749. 1
B15475750. 2
615475751 3
615475752 4

Question Number : 38 Question Id : 615475193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qd % @2 W2 4 H9d AGEE &390 0 A0 A w9 A9 J8 1 eiaigd 1 O B el w1l 9w
(1)  31-40dBA (2) 41-50 dBA
(3) 70-95 dBA (4) 110-120 dBA

Options:

615475749 1
615475750 2
E15475751. 2
B15475752 4

Question Number : 39 Question Id : 615475194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Montreal Protocol refers to

(1) Cooperation among UN member countries to combat climate change

(2) Phasing out the consumption and production of ozone depleting substances
(3) Ensuring environmental sustainability

(4) Safeguarding societal quality of life worldwide

Options:

515475753 1
615475754 2
615475755 3
615475756 4

Question Number : 39 Question Id : 615475194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(2) AT 1 &0 3 dTed 92191 F 32T H1T @99 =0 0EE B9 O OOH HE
(3) TR AEEOES GHTEd H
(4) 9 Tava 1 A = w2 =

Options:

£15475753 1
615475754 2
615475755 o
615475756 4

Question Number : 40 Question Id : 615475195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which category Cochin International Airport has been conferred. the UN's Champion of
the Earth Award?

(1) Policy Leadership (2) Entrepreneurial Vision
(3) Science and Innovation (4) Inspiration and Action
Options:

BE15475757. 1
BE15475758. 2
515475759 3
615475760 4

Question Number : 40 Question Id : 615475195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FEA FTEE 2R 32 F1 FeAfafgd § 4 g 9o § 9% g 1 <dea atF g e e 5 mn
27

(1)  fifo= 9= (2) A gfasq gfe
(3) o =i FEr (4) I i ity
Options:

615475757 1
615475758 2
E15475759. 3
E15475760. 4

Question Number : 41 Question Id : 615475196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following modes of admission was prevalent in Nalanda University in ancient
times?

(1) Entrance Examination (2) Interview
(3) Good Academic Credentials (4) Peer Discussion



Options:

6154757611
E154757E2 2
E154757E2 2
615475764 4

Question Number : 41 Question Id : 615475196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TAAHTA 1§ ATl 99 Taanel 0 g 4 3 F5 5 9997 fatg s1aare =7

(1) 999 T (2) TIETHR
(3)  IW S gEE (4) TEEAT T
Options:

615475761 1
E1547576Z2 2
E154757E3. 3
E15475764. 4

Question Number : 42 Question Id : 615475197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What are the current challenges in the field of higher education in India?

(1) Expansion

(11) Equity

(m) Funds

(1v) Examination Reforms
(v) Excellence

(v1) Entrance Examinations

Select correct answer from the options given below :

(1) (1). (1) and (v1) (2) (1), (1) and (1v)
(3) (11). (1v) and (vi1) (4) (1). (11) and (v)
Options:

B15475765. 1
B15475766. 2
E15475767. 3
615475768 4

Question Number : 42 Question Id : 615475197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A § It e % & § gdnam gt 87

(1) =

(11) AT
(i) T

(iv) T 99r
(v)  3cheEdl

&

(vi) s JEET

e fou U fasedl § 9 @ 3 9HT

(1) (@), (i) FT (vi) (2)  (ii). (iii) 3 (iv)
(3) (1i1). (iv) 3T (vi) (4) (1), (1) 3 (v)
Options:

B15475765. 1
BE1547576E. 2
615475767, 5
E15475768. 4

Question Number : 43 Question Id : 615475198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following emphasized that education needs to be managed 1n an atmosphere of
utmost intellectual rgour. zeriousness of purpose and of freedom essential for imnovation
and creativity?

(1) National Policy on Education—19683

(2) National Policy on Education—1986

(3) NITI Aavog-Three Year Action Agenda (2017-18 to 2019-20)
(4) Draft National Education Policy—2019

Options:

6154757649 1
15475770 2
615475771 3
615475772 4

Question Number : 43 Question Id : 615475198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



ffeigd § 4 0 30 919 W 94 60 T 7 e w Yeedd AT dllg® Sl 19Ral vl FaEn
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(1) g foveqn ifd, 1968

(2) e e fifa, 1986
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(4) 9" ¥ foen i, 2010

]
=
b

Options:

615475769, 1
615475770 2
615475771 3
615475772 4

Question Number : 44 Question Id : 615475199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the following, i1dentify the organisation that provides a common platform to all
universities including institutions of national importance :

(1) University Grants Commission
(2) Aszociation of Indian Universities
(3) Distance Education Council

(4) Indian Institute of Advanced Study

Options:

6154757721
615475774 2
615475775 o
15475776 4

Question Number : 44 Question Id : 615475199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiaa 4 | 1 | 9ed Ty gee & 55 2 % Wy |9y |9 fova faenerdi & foe svafe wiew
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(1)  fava fornera srgem@ smm
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(3) g fren uftse

(4) I T

Options:

6154757731
615475774 2
E15475775 2



B15475776 4

Question Number : 45 Question Id : 615475200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Creation of World-Class Universities requires :

(1) Autonomous governance

(11) Focused funding

(m1) Control over evaluation mechanism
(1v) Independent outcomes

(V) Appointment of staff by the State Machinery

Select correct answer from the option given below :

(1) (1), (1) and (v) (2) (1), (1) and (v)
(3) (111). (1v) and (v) (4) (1), (1) and (av)
Options:

615475777 1
B15475778. 2
E15475773. 3
615475730 4

Question Number : 45 Question Id : 615475200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e =i fava e iz = fou st 2
(1) I A

(i)  HeRf=zd FAREEE

(iii) T 99 T AT
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(1) (1. (i1) 31 (v) (2) (). (iii) 3 (v)

(3)  (iid). (iv) 3E (v) (4) (1), (i1) 37 (iv)
Options:

615475777 1
E15475778. 2
615475773 3
E15475780. 4

Sub-Section Number: 4
Sub-Section 1d: 61547511
Question Shuffling Allowed : Yes

Question Id : 615475201 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension



Eead the following passage carefully and answer gquestions from 46-50.

Intra-industry trade arises in order to take advantage of important economies of scale 1n
production. That 1s. international competition forces each firm or plant in industirmal
countries to produce only one. or at most a few. varieties and styles of the same product
rather than many different varieties and styles. This 1s crucial in keeping unit costs low.
With few varieties and stvles. more specialised and faster machinery can be developed for a
continuous operation and a longer production run. The nation then imports other varieties
and stvles from other nations. Intra-industry trade benefits consumers because of the wider
range of cholces. 1.e.. the greater variety of differentiated products. available at the lower
prices made possible by economies of seale 1n production. Because of this. large welfare gains
arise from the abilityv of consumers to greatly increase the variety of goods that theyv can
purchase through trade. The 1mportance of intra-industry trade became apparent when
tariffs and other obstructions to the flow of trade among members of the European Union. or
common market were removed 1n 1958. It was found that velume of trade surged but most of
the increase involved the exchange of differentiated products within each breoad industirmal

classification.

Sub questions

Question Number : 46 Question Id : 615475202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The 1mpact of international competition on intra-industry trade can be seen 1n

(1) the availlability of wide varieties of products
(2) the limited varieties of the same product
(3) adverse effect on industrial production
(4) restrictive advantages of production
Options:

5154757811
615475782 2
615475783 3
615475734 4

Question Number : 47 Question Id : 615475203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mass production of a few varieties of products will result in

(1) low cost of unit
(2) advantage to industrial economies of scale
(3) benefits to the customers of important economies
(4) increased cost of production
Options:

E15475785. 1
E154757BE. 2
B15475787. 3
B15475788. 4

Question Number : 48 Question Id : 615475204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Development and use of specialised machinery will lead to

(1) more varieties of products (2) decreased consumer welfare
(3) 1import of varieties of product (4) hindered intra-industry trade
Options:

615475789 1
615475730 2
615475731 3
E15475732. 4

Question Number : 49 Question Id : 615475205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lower product price means

(1) continued production run

(2) abhsence of choice

(3) increase 1n trade information exchange
(4) mmcreased consumer purchasing power
Options:

E15475733. 1
615475734 2
E15475735 3
B154757396. 4

Question Number : 50 Question Id : 615475206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What was the consequence of removal of barriers to the flow of trade in European Union?

(1) Sluggish intra-industry trade

(2) Flow of uniform products

(3) Spurt 1in trade volume among member states
(4) Emphasis on differentiated products

Options:

615475797, 1
615475798 2
615475799 o
615475300 4

Question Id : 615475201 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label @ Comprehension
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Sub questions

Question Number : 46 Question Id : 615475202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Icamei 1 gg i 1 Iaetedan
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(4) 3TUEA % WidadTed® =14

Options:

615475781, 1
615475782 2
6154757383 2
615475734 4

Question Number : 47 Question Id : 615475203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SATG] °F %@ TRl ok 9 3c9ed %1 TR0 B

(1)  Z%ME ] arF 9 %]
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(3) WU AU =TATHAT  WEF I AT

(4) 3124 =i 92l A

Options:

615475785, 1
615475786 2
615475787 o
6154757388 4

Question Number : 48 Question Id : 615475204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ferpr 27l fafere gefd = 39 =1 == gftomm S e

(1) 379121 =1 37igF TR gt (2) ITAREIS F Ted § = e
(3)  3El = Rl S S (4)  379: I SAEE T a0y
Options:

E15475789. 1
615475730, 2
E15475731. =2
B15475732 4

Question Number : 49 Question Id : 615475205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Y 397 §od 1 A9 7

(1)  Tad 3o92 9= (2) TaF9 1 39E
(3) =AM g=AT fabe H gig (4) 3UHE = FA WkE ° gig
Options:

515475732 1
615475734 2
E15475735. 3
615475736 4

Question Number : 50 Question Id : 615475206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A IHFA § SR FA] o A0 =il = @2 90y 22 7

(1) 374 3T =OE | 09 (2) TAUH 3G F 974
(3) T FdE SN A i Aty (4 fafEd s W
Options:

B154757397. 1
615475738 2
615475739 3
615475800 4

PART 11 Geography

Section Id : 6154754
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 61547512
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 615475207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The two-cycle theory regarding the “origin of limestone caves’ was propounded by
(1) Swinerton (2) Gardner

(3) W.M. Davis (4) Malott



Options:

615475801, 1
615475202 2
E15475202 2
615475804 4

Question Number : 51 Question Id : 615475207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FATICRR = TR 1 300 ° Hardad g fuga = S o

(1) = (2) TEW
(3)  Z==4.uy. 3fam (4) WHAR
Options:

515475801, 1
615475802 2
615475802 5
E15475804. 4

Question Number : 52 Question Id : 615475208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Ria Coast’ 15 an example of —

(1) Neutral shoreline (2) Compound shoreline
(3) Submerged upland shoreline (4) Emerged upland shoreline
Options:

E15475805. 1
615475806 2
E15475807. 3
E15475808. 4

Question Number : 52 Question Id : 615475208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 92 — Feeigd § O &S 328 27

(1)  Fewariaa q2aa (2) TIF deE
(3) T Ui e (4) IHTad ITHYM F20d]
Options:

615475805 1
615475806 2
615475807, 3
E15475808. 4

Question Number : 53 Question Id : 615475209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the process of erosion. the removal of materials by =zolution 1s called

(1) Corrasion (2) Attrition
(3) Corrosion (4) Sapping
Options:

E1547580%9. 1
B15475810. 2
615475811 =
615475812 4

Question Number : 53 Question Id : 615475209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

A Fi ik 4, foaea =+ g 9erd =51 s (fogaer) Feaman 2

o r

(1) AT (2)  Tfedm
(3) T2 (4) 319 =99
Options:

615475809, 1
E15475510. 2
E15475811. =
515475812 4

Question Number : 54 Question Id : 615475210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The concept of ‘Panplain’ was propounded by

(1) Swinerton (2) Johnson
(3) Davis (4) Crickmay
Options:

E15475812. 1
615475814 2
E15475815 2
E15475816. 4

Question Number : 54 Question Id : 615475210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

99 (panplain) =il AFGEON HAfARTE T I 60 Tiadiiad =i 217

i % i

(1) =347 (2)  FAFEA
(3) sfam (4) TF=m
Options:

E15475512. 1
E15475814. 2
615475815 5



E15475816. 4

Question Number : 55 Question Id : 615475211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The ‘Doctrine of Umiformitarianism’ was postulated by

(1) Cotton (2) Dutton
(3) Hutton {(4) Dalton
Options:

E15475817. 1
B15475818. 2
615475819 =
615475820 4

Question Number : 55 Question Id : 615475211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TFETdEE 1 g Ed o e

=

(1) =hid- (2) Sz
(3) = (4) Bleed
Options:

E15475817. 1
E15475818. 2
615475819 =
615475820 4

Question Number : 56 Question Id : 615475212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s not an advantage for raster data format?

(1) Simple data structure
(2) Easy and efficient overlayving
(3) Compatible with remotely senzed 1magery
(4) Application for network analysis
Options:

E15475821. 1
B15475822. 2
615475823 2
E15475824. 4

Question Number : 56 Question Id : 615475212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475821, 1
615475822 2
615475822 o
615475824 4

Question Number : 57 Question Id : 615475213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The resolution. which 1s related to sensitivity of remote sensing detector to record differences
in portions of the electro-magnetic spectrum i1z known as —

(1) Spatial resolution

(2) Spectral resolution

(3) Radiometric rezolution
(4) Temporal resolution
Options:

615475825 1
E15475826. 2
615475827, 3
E15475828. 4

Question Number : 57 Question Id : 615475213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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-
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Options:

615475825 1
E15475826. 2
615475827, 3
E15475528. 4

Question Number : 58 Question Id : 615475214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following landmass recorded world's lowest air temperature (—29°C) on
July 21. 19837

(1) Antarctica {2y Greenland
(3) Australia (4) North America
Options:

615475829, 1
E15475830. 2
E15475831. =
615475832 4

Question Number : 58 Question Id : 615475214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tava o Ffigd § ¥ ofd Tef 97 8 21 918, 1983 &1 —Ha9 @ d99H (-89° HEAE) 3+ =
T 47

(1) 2T+ (2) WA
(3) AT AT (4) A1 I
Options:

E154r5529. 1
E15475830. 2
515475831 5
615475832 4

Question Number : 59 Question Id : 615475215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following deszcription for "Ax’ in Koppen's world climatic clazsification 1is
correct?

(1) Marine West Coast Climate

(2) Tropical Wet Climate

(3) Tropical Monsoon Climate
(4) Tropical Savanna Chimate
Options:

515475832 1
615475834 2
615475835 3
615475836 4

Question Number : 59 Question Id : 615475215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475832 1
615475834 2
615475835 2
15475836 4

Question Number : 60 Question Id : 615475216 Question Type: MCQ Option Shuffling: No Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

At which one of the following temperatures 1s fresh water densest?

(1) 0°C (2) 4°C
(3) 100°C (4) —4°C
Options:

B15475837. 1
615475838 2
615475839 2
E15475840. 4

Question Number : 60 Question Id : 615475216 Question Type: MCQ Option Shuffling: No Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frtefgs O O g 9O 9 aren I = 990 gaiiees 2 2 7

L e

(1) 0° 971Us (2) 4°°97us
(3) 100° TFU= (4) —4° AUE
Options:

615475837, 1
615475838 2
E15475839. 3
E15475840. 4

Question Number : 61 Question Id : 615475217 Question Type: MCQ Option Shuffling: No Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Yes

:Yes

:Yes



Ln ]

Which one of the following options best describes the world distribution of active volcanoes

(1) They are found 1n assocciation with voung folded mountain systems
(2) They occur 1n river flood plains

(3) Thev are associated with old eroded mountain chains

(4) Theyv lead to form chains around ocean basins

Options:

E15475841. 1
B15475842 2
615475842 5
615475544 4

Question Number : 61 Question Id : 615475217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475841, 1
615475842 2
615475342 5
615475844 4

Question Number : 62 Question Id : 615475218 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following weather instruments 1s kept outside the Stevenson screen?

(1) Barometer

(2) Anemometer

(3) Hydrograph

(4) Maximum and minimum thermometers
Options:

615475845 1
E15475846. 2
615475847 5
615475848 4

Question Number : 62 Question Id : 615475218 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  sEmEme
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Options:
£15475845 1
615475846 2

615475847 5
615475848 4

Question Number : 63 Question Id : 615475219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following does NOT form an essential part of the process of photosynthesis?

(1) Sunhight (2) Carbon dioxide
(3) Nitrogen (4) Water
Options:

E15475849. 1
E15475850. 2
615475851 5
615475852 4

Question Number : 63 Question Id : 615475219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475549 1
E15475850. 2
E15475851. =
615475852 4

Question Number : 64 Question Id : 615475220 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following characteristics 1s best suited to intensive farming?

(1) Large farm =ize (2) Low labour input
(3) High vield rate (4) Sparsely populated region
Options:

515475852 1
615475854 2
615475855 3
615475856 4

Question Number : 64 Question Id : 615475220 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3 T IEEE R (4) et s A
Options:

B15475852. 1
615475854 2
615475855 2
E15475856. 4

Question Number : 65 Question Id : 615475221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The voleanic origin deposits on the ocean floor at a depth of 2.500 fathoms or more are known

as :

(1) Pelagiac deposits (2) Redclay

(3) Calcareous ooze (4) Radiolarian ooze
Options:

B15475857. 1
B15475858. 2
615475859 5
615475860 4

Question Number : 65 Question Id : 615475221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  =gg Ham (2) = e
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Options:

E15475857. 1
E15475858. 2
E15475859. 5
E15475860. 4

Question Number : 66 Question Id : 615475222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which one of the following statements 1s true?

(1) Arctic snow covered areas have intermediate ecological productivity

(2) Temperature 1s the limiting factor for desert areas 1n relation to ecological productivity

(3) The primary productivity of a natural ecosystem largely depends on the amount of solar
radiation

(4) The herbivores are called as secondary consumers

Options:

615475861, 1
615475862 2
15475862 2
615475564 4

Question Number : 66 Question Id : 615475222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475861, 1
615475862 2
15475862 2
615475564 4



Question Number : 67 Question Id : 615475223 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If in any region. the largest city has 10.00.000 population. what will be the population size

for the 4™ largest city. according to the rank-size rule™?

(1) 1.00.000 (2) 2.00.000
(3) 2.50.000 (4) 3.50.000
Options:

E154755865. 1
615475866 2
E15475867. 3
E15475868. 4

Question Number : 67 Question Id : 615475223 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a3 el &3 8 "ad @2 W@ F SEE 10.00.000 2, Hvi-3ER AR F1 OeE Fd g8 Y e a3

T2 ! THEAT 1 ATRE #4127

(1) 1.00.000 (2) 2.00.000
(3) 2,560,000 (4y 3.50.000
Options:

6154755865 1
E15475866. 2
615475867, 3
E15475868. 4

Question Number : 68 Question Id : 615475224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What would be the pattern of distribution of rural settlements in an area if their nearest
neighbour statistic works out as 2.10?

(1) Random (2) Clustered
(3) Agglomerated (4) Uniform
Options:

B1547586%9. 1
615475870 2
615475871 2
E1547587Z 4

Question Number : 68 Question Id : 615475224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T &9 ° T amE % AW Y T R A FEean Je TRfeE FOSEEn 3OE gEaE
2.1027

(1) ATG = (2) =3
(3) e (4) TF=1

Options:

615475869, 1
615475870 2
615475871 2
615475872 4

Question Number : 69 Question Id : 615475225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following principles of central place svstem operates in a region if K = 7. 1s
applicable for spatial organization of settlements?

(1) Market principle (2) Transport principle
(3) Administrative principle (4) Economie principle
Options:

615475872 1
615475874 2
615475875 3
E15475876. 4

Question Number : 69 Question Id : 615475225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
&l s F Ted F o F e s # K = 7 & faga ween frefatas § & G faga
T HATEE 27

(1)  =T9F THgE (2) TEEE fOgE
(3)  TEHEAEE fTgE (4) =T fage
Options:

615475872 1
615475874 2
615475875 3
615475876 4

Question Number : 70 Question Id : 615475226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lumbering falls in the category of :

(1) Tertiary activities (2) Secondary activities
(3) Primary activities (4) Quarternary activities

Options:



B15475877. 1
615475878 2
615475879 5
615475880 4

Question Number : 70 Question Id : 615475226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

"STHE FNe F HaEEd HE A § 3 27

(1) T FEwa (2) Tedims Frs
(3)  WHHE HEHAM (4) =t
Options:

B15475877. 1
B15475878. 2
615475879 5
615475880 4

Question Number : 71 Question Id : 615475227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Boundaries between India and Pakistan and India and Bangladezsh belong to which one of
the following tvpes?

(1) Antecedent Boundaries
(2) Subsequent Boundaries
(3) Superimpozed Boundaries

(4) Relict Boundaries
Options:

15475881 1

15475882 2

15475885 3

15475854 4

Question Number : 71 Question Id : 615475227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qEE 3T TR a9 9 310 ST = =i =) DiEe etaigd O O g g & g 7

(1)  dadi =@mm
(2)  Iadl Hmm
(3)  #AWIMG dEm
(4)  Tfcide HHm

Options:
615475881, 1



BE15475882. 2
615475882 5
615475884 4

Question Number : 72 Question Id : 615475228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The North-South division of the world 1s based on the criterion of

(1) Culture (2) Latitude
(3) Economic development (4) Political 1deology
Options:

515475885 1
615475886, 2
615475887 5
615475888 4

Question Number : 72 Question Id : 615475228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Afaigd O O favg F -2l [T (North-South Division) F1 3T9F FH-H1 THGS 27
(1)  ToHa* (2) w1ETE
(3) e fawm (4) Tr=Hfa® fa=mam

Options:

BE15475885. 1
B15475886. 2
615475887, 5
E15475888. 4

Question Number : 73 Question Id : 615475229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

As a reaction to regional development policies of the government in India. several social
movements emerged 1n different parts of the country. The ‘Chipko movement’. one of such
movements. originated in areas covered under

(1) Desert development programme

(2) Coastal area development programme
(3) Tribal area development programme
(4) Hill area development programme
Options:

E1547588%9. 1
615475830, 2
E15475831. =
B154758392. 4



Question Number : 73 Question Id : 615475229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
aRd § WEE F & e fifamt i ufatmm + =9 § 25 % 3w 9 § 59 gmias dAeed 397
U4 AR 8 T =9 AR, Fefaigd 9 § 0 $E%8 F 23d7d HA &9 § 3907 917

(1)  #%4H T FrEwn

(2) A &9 TFFEE FEF
(3)  FAEEE &7 faEw w=EEn
(4) CREIR:ERFEar s Ea

Options:

615475889, 1
615475890 2
615475891 2
615475892 4

Question Number : 74 Question Id : 615475230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who advocated the poliey of deliberate unbalanced development?

(1) Gunnar Myrdal (2) A.O. Hirschman
(3) A.G. Frank (4) R. Nurske
Options:

615475893 1
E154758394. 2
E15475835 5
6154758396 4

Question Number : 74 Question Id : 615475230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tetaiad § & fea e wudaa fawm £ i i g fide
(1) TR g (2) U BN
(3) Ul ¥ (4) AW T
Options:

BE15475892. 1
515475834 2
615475835 5
615475836 4

Question Number : 75 Question Id : 615475231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who coined the term "Geopalitik™

(1) Haushoffer (2) Kjellen
(3) Hess (4) Spyvkman
Options:

B15475897. 1
615475838 2
6154758939 2
615475300 4

Question Number : 75 Question Id : 615475231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T ‘Geopalitik’ a7 gfaq fFm = ?

(3) =™ (4) TAEHEA
Options:

6154758397, 1
615475898 2
E1547589%9. =
E15475300. 4

Question Number : 76 Question Id : 615475232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The "Organic Theory of State’ was propounded by

(1) Bowman (2} Haushoffer
(3) Mackinder (4) Ratzel
Options:

E154r5301. 1
B154753902. 2
5154753902 3
515475504 4

Question Number : 76 Question Id : 615475232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=4 1 99 fage =g fagm o giaaiza e an?

(1) | (2) EISEH
(3)  HEFT= (4) Tz
Options:

5154759011



B154753902. 2
6154753032 3
515475504 4

Question Number : 77 Question Id : 615475233 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

]

Who 1s the founder of the Humanistic School in Geography?

(1) Wolpert (2) Taun
(3) Kirk (4) Harvey
Options:

E15475305 1
B15475306. 2
615475307 5
615475308 4

Question Number : 77 Question Id : 615475233 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

I  GHEAR] G=ERarl  9id98® #H 87

(1) dleT4d (2) @M
(3) T+ (4) @d
Options:

E15475305. 1
B15475306. 2
615475307, 3
515475508 4

Question Number : 78 Question Id : 615475234 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Who 15 the founder of Poszibilism?

(1) G. Carter (2) L. Febvre
(3) W. Bunge (4) E.C. Semple
Options:

515475909 1
5154753910, 2
615475911 =5
E1547591Z% 4

Question Number : 78 Question Id : 615475234 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Yes

Yes

Yes

Yes



Correct Marks: 2 WrongMarks: 0

GIadlg & % ®H o 7

(1) 1. FH (2) UA. Fad
(3)  T=g. (4) .. oy
Options:

E1547530%9. 1
5154753910, 2
615475911 =5
615475912 4

Question Number : 79 Question Id : 615475235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who used the term "Chorographyv’ to describe Geography?

(1) B. Varenius (2  A. Von Humboldt
(3) E. Kant (4) C. Ritter
Options:

615475913 1
E154753914. 2
E15475915 5
615475916 4

Question Number : 79 Question Id : 615475235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ez H“if:‘ I AT 4 * T FAIH (Chorographic) Teg &1 YA =ha17?

(1) . g (2) ©AH EHEe
(3) ML (4) i fem
Options:

E15475912. 1
B15475914. 2
615475915 =5
6154755916 4

Question Number : 80 Question Id : 615475236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who savs ‘geographyv 1= the science which deals with the art of map-malking'?

(1) Eratosthenes (2) Hipparcus
(3) Hecateaus (4) Ptolemy
Options:

E154753917. 1
E15475918. 2
6154759159 =5
615475920 4

Question Number : 80 Question Id : 615475236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
e a1 i 9 fasm 2 < omf=am i e 3 amag 20

(1)  TEHEEE (2) Ted=m
(3)  TEIeTm (4) oA
Options:

E154753917. 1
E15475918. 2
6154759159 =5
615475920 4

Question Number : 81 Question Id : 615475237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who calculated the circumference of the Earth as 25.000 miles?

(1) Thales of Miletus (2) Poseirdonius
(3) Hipparchus (4) Eratosthenes
Options:

61547559211
6154753922 2
615475923 3
E15475924. 4

Question Number : 81 Question Id : 615475237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o T2 IieRied TR o T gt &1 afdg 25,000 | 27

(1) ST 3% Heled (2)  GrEETay
(3)  TeurEm (4) TEHEEY
Options:

E15475921. 1
B1547592E. 2
615475923 5
615475924 4

Question Number : 82 Question Id : 615475238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The given drainage pattern represents. which one of the followings?

(1) Parallel (2) Dendntic
(3) Centripetal (4) Angular
Options:

515475925 1
B15475926. 2
6154753927 3
6154759258 4

Question Number : 82 Question Id : 615475238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fr fou 0 99 % H@ey ° FediEd § ° F5 @ 9991 Siaed I8 27

(1)  =EHE (2) GHTHIdH
(3)  AMTHZ (4) O
Options:

615475925 1
E154753926. 2
615475927 3
E15475928. 4

Question Number : 83 Question Id : 615475239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following measurements of form-factor’ is correct. as basin area 1= denoted
by 'A’ and maximum basin length being 'L™?

(1) AL () AM2
(3 Afx 13 (4y Al/xL?
Options:

B15475929. 1
615475930 2
615475931 =2
615475932 4

Question Number : 83 Question Id : 615475239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HefefEd O O %9 O -0 T8 2, 302 60 &9 AT AR 9 S afgsay e L ae
(1) AL (2) ALz
{3) Alrl3 (4) A/xl=

Options:

B15475929. 1
5154753930 2
615475931 =5



E15475932 4

Question Number : 84 Question Id : 615475240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Two points A and B are located at the elevation of 250 m and 500 m from mean sea level

with a horizontal equivalent of 1000 m between them. Which one of the following values of
slope gradient (in tan — value scale) 13 correct?

(1) 0.20 (2) 026
(3) 0.30 (4) 0.40
Options:

515475932 1
6154753924 2
615475935 3
E15475936. 4

Question Number : 84 Question Id : 615475240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
31 fag A 3 B 3019d ¥4z 91 § FHAW: 250 W, AR 500 #i. # 3R W sEdd @ #i H=F "= H
4t 20 1000 . 2| 29 YAUET (tan - o9 A °) 1 FEfAEd § 3 #6091 96 T8 27

(1) 0.20 () D25
(3) 0.30 (4) 0.40
Options:

615475932 1
E154753934. 2
E154753935 =2
E15475936. 4

Question Number : 85 Question Id : 615475241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the regression model (y=a+bx) where x=2.50. y=5.50 and a=150 (x and ¥
denote mean of variables x and v and a 1s a constant). which one of the following values of

parameter ‘b’ of the model is correct?

(1) 1.75 (2) 1.60
(3) 2.00 (4) 2.50
Options:

515475937 1
515475938 2
E15475939. 3
615475940 4

Question Number : 85 Question Id : 615475241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T Higd (y=a+bx TOFH Oi24) 981 ¥=2.50. y=5.503T a=150 (¥ @ yx 30 y &=
+ meT 1 [EE F941 2 3 o 2R 2), Fefafaa 0 8 =5 @ aiza & b Whe #1 od 4eg 27

(1) 1.75 (2) 1.60
(3) 2.00 (4 2.50
Options:

E154753937. 1
E15475938. 2
E1547593%9. 5
515475940 4

Question Number : 86 Question Id : 615475242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following states recorded the highest percentage share of India's total
population as per 2011 Census?

(1) West Bengal (2) Bihar
(3) Uttar Pradesh (4) Maharastra
Options:

615475941, 1
E15475942. 2
E15475942. 5
6154755944 4

Question Number : 86 Question Id : 615475242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

2011 % FFVET % ARSI F TIAR ARG T4 § T B 97 Fl 9 FIEE & S=a8 Iiq9d #i
iR o o7

(1) If5=m = (2) TaEm

(3) 39 9eH (4) HIATE

Options:

E154r5941. 1
B15475942 2
515475942 5
6154755944 4

Question Number : 87 Question Id : 615475243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following states recorded the highest percentage of urban population within

]

them as per 2011 Cenzus?’

(1) Madhya Pradesh (2) Harvana
(3) Bihar (4) Uttar Pradesh
Options:

615475945 1
615475946 2
6154753947 3
615475945 4

Question Number : 87 Question Id : 615475243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2011 =1 F0AT * FFOR Fefatgd 7= 4 9 9 059 § T S90E F I=qy a1 ieaiaa
e 7

(1)  H=Adew (2) BT

(3)  femm (4) T T

Options:

B15475945 1
615475946, 2
615475947 5
E15475945 4

Question Number : 88 Question Id : 615475244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following 1s NOT correctly matched?

(1) Latur - Riverine flooding
(2) Nashri - Landshde

(3) Kandla - Cyclone

(4) Bhuj - Earthquake

Options:

615475949 1
£15475350 2
£15475951. =
615475352 4

Question Number : 88 Question Id : 615475244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HHARgd H 3 ®E A1 98 F9 4 gofeid 98 27
(1) G L RO A e e [

(2)  TEEI - e

(3) Fraell — Fhamdl IEH

4) 99 - 99
Options:
615475949 1
615475950 2
615475951, =3
615475952 4

Question Number : 89 Question Id : 615475245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

During the winter season. the North-Western part of India gets rainfall from

(1) Thunderstorms (2) Retreating monsoons
(3) Western disturbances (4) Tropical cvclones
Options:

B15475953. 1
515475954 2
615475955 3
E154753956. 4

Question Number : 89 Question Id : 615475245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et % O F A, 94 & I-afv=n 97 § i O O R S O a9 g 2t
(1)  dfsd & (2) Al B gHEA

(3) SRR R (4) IOERZEGE TFAT
Options:

515475952 1
515475954 2
6154753955 3
615475956 4

Question Number : 90 Question Id : 615475246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which part of India Dandakaranyva region is situated?

(1) North-Eastern (2} South-Eastern
(3) Central (4) Northern
Options:

E154753957. 1
E154753958. 2
515475959 3
515475960 4

Question Number : 90 Question Id : 615475246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A TF0 97 § SUSER0T You ity 27

(1)  IT-7di 9 (2) afEo-gEt am
(3)  HZE Y H (4) I 9 A
Options:

E15475957. 1
E15475958. 2
515475959 5
515475960 4

Question Number : 91 Question Id : 615475247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who gave the 1dea that there was an Ice Age during which most of Northern Europe was

covered by Ice Sheets?

(1) W.M. Davis (2) L. Agassiz
(3) W. Penck (4) A.C. Ramsay
Options:

615475961, 1
E15475396Z2 2
615475963 35
E15475964. 4

Question Number : 91 Question Id : 615475247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



7z fa=m e o o1 5w feg 3o a1 T e -3= 0 = st fewn feam=artea =17

(1)  =ecg. wH. 2EH (2) U, IS
(3) =g, TE (4) v g
Options:

E15475961. 1
BE1547596E. 2
6154759632 5
615475964 4

Question Number : 92 Question Id : 615475248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The statement “The present 1s the key to the past” was made by —

(1) W.M. Davis (2} Walther Penck
(3) James Hutton (4) F. Von Richthofen
Options:

E154753965. 1
E15475966. 2
E15475967. 3
B15475968. 4

Question Number : 92 Question Id : 615475248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T2 A “TA9H AR i Fel o, A fage gen giamtea e —

(1) ==, UH. =W (2) dTee U
(3) &= A (4) U, aF F=are
Options:

B15475965. 1
B15475966. 2
6154753967 5
E15475968. 4

Question Number : 93 Question Id : 615475249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The Hydraulic Slope Theory was given by —

(L C. Darwin (2) A, Goudie
(3) R.E. Horton (4) C.A. Cotton

Options:



B1547596%9. 1
615475970 2
615475971 5
E1547597% 4

Question Number : 93 Question Id : 615475249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I FA 2 WA (FEEiEs T ) e Ty

(1)  ®i. =i (2) © T
(3)  H{RE. & (4) .U ®EA
Options:

E1547596%9. 1
615475970 2
E15475971. 3
B15475972 4

Question Number : 94 Question Id : 615475250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The rigid masses surrounding the geosvnclines were termed by Kober as —

(1) Kratogen (2) Primarumph
(3) Endrumph (4) Monadnock
Options:

615475972 1
615475974 2
615475975 3
E15475976. 4

Question Number : 94 Question Id : 615475250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

q - A F 5 55 g9 H HEL 4 Fal —

(1)  sherad (2) TommTE
(3)  UTE (4) HHETATE
Options:

615475972 1
6154753974 2
615475975 3
B15475976. 4

Question Number : 95 Question Id : 615475251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The digital image process. which involves algorithms that examine the unknown pixels 1n
the 1mage and aggregate them into a number of classes based on the natural groupings or
cluster prezent in the image 1s known as

(1) Spectral enhancement technigue

(2) Supervised clazsification technique
(3) Unsupervised classification technigue
(4) Image transformation technique
Options:

615475977, 1
E154753978. 2
E15475979. 2
E15475980. 4

Question Number : 95 Question Id : 615475251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
77 fefaea 209 i faud 9 oy snfaa 2 2 <1 fam (309) 8§ w19 foee i 9= #3912 o
3¢ T 4 fommm wmnfas ogel staar Femet & 5an W 52 fafa ot 8 gfad = 2

(1) T gagd I

(2)  wHAlEd FffE TEA
(3)  ATHIIEA FHT THATE
(4) 9= =9 TEAw

Options:

6154759771
15475978 2
E15475973 2
6154759580, 4

Question Number : 96 Question Id : 615475252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In 1687, who was the scientist to give for the first time a rational explanation of tides and

tide producing forces of the moon and the sun?

(1) John Dalton
(2) Gregor Mendel
(3) Izaac Newton

(4) Albert Einstein

Options:
6154759581 1



E15475982. 2
6154759832 5
515475984 4

Question Number : 96 Question Id : 615475252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hfefgd 0 4 0 d97H% 9 99 1687 1, SaR-9721 941 =7E 3 g4 % San-92l 921 F:4 95l oo =l

AT S TR =HEEd] Tigd i i ?

(1) EIE L
(2) W H2A
(3) Mgl 24

(4) HAewe AT

Options:

615475981, 1
615475982 2
6154753982 o
615475354 4

Question Number : 97 Question Id : 615475253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s an essential macro nutrient for plant growth?

(1) Iron (2) Copper
(3) Potassium (4) Nickel
Options:

E154753985. 1
E15475986. 2
E15475987. 5
515475988 4

Question Number : 97 Question Id : 615475253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tfafgd § & FH-w W29 afg 59 v Iavas 991 (HH) 9NE a2 7

(1) eIlel (2y AT
(3)  Orfemm (4) Tooe
Options:

E15475985. 1
E15475986. 2
615475987, 5
615475988 4

Question Number : 98 Question Id : 615475254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following i1s the leading cause of animal extinction zince 1600 A.D..

according to the World Conservation Monitoring Centre (1995)?

(1) Habitat destruction
(2) Species introduction
(3) Hunting

(4) Lumbering

Options:

615475989, 1
615475390 2
615475991 =
£15475992 4

Question Number : 98 Question Id : 615475254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tava wam A g (Fe= FEasd HHERT TUe) (1995) F AR, 1600 3.4 79 faedEm 1
reAfafgd § T F9-07 T 3T FHR0 5 27

(1) FEYE a2 F41
(2) ElEE I EEEE
(3) g7

(4)  FIHOA (AE)

Options:

61547595849 1
615475290 2
6154753991



B15475992. 4

Question Number : 99 Question Id : 615475255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Coastal and estuary waters are sometimes affected by algal foam and scum. often called

(1) Red tides
(2) Red clay
(3) Red so1l

(4) Red waves
Options:

615475993 1
615475994 2
15475995 3
15475996 4

Question Number : 99 Question Id : 615475255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
91T AR ﬂ.,i'.?_:ff.,fl T FdT-FT FE T (alzae) T 55 (scum) T 991E4 _5'I?IT "%" EIEE EIF ERIREIG) ?:'

(13 T =1 (12 7158)

(2) ﬂicﬂaﬁﬁ
(3) 1 e

(4) =TT T

Options:

615475993 1
615475394 2
6154759395 =
615475996, 4

Question Number : 100 Question Id : 615475256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the given diagram of Multiple Nuclel model of urban structure devised by C.D. Harris
and E.L.. Ullman. identify the urban land use pattern of nuclel centres of 3 and 6.

(1) CBD and Residential suburb

(2) Low class residential and heavy manufacturing

(3) Wholesale and light manufacturing and residential suburb
(4) Highclass residential and outlving business district

Options:

615475997 1
E15475998. 2
B1547599%9. 5
B154751000, 4

Question Number : 100 Question Id : 615475256 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Hi.F1. 2R 3R 3.U9. IAA R iaunied 9T S % aghee® Hisd (Heeldd iad "isd) % 4 57 7
ANE U o 3 AR 6 HI Wl -S4 F1 TZd H === i)

N

A\

-

(1)  d & 21 AR FAEnE I (TEEREE g9 )
(2) Ao FifE a1 g T
(4) I T AEHEE R FEddl AT e

Options:
615475997, 1
615475398 2
615475399 o
154751000, 4

Question Number : 101 Question Id : 615475257 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If two citiez with population of 24.000 and 6.000. respectively are located 18 km apart. the
breaking point will lie from the smaller town at a distance of

(1) 3 km (2) 4km
(3) o km (4) 6km
Options:

61547510011
E15475100Z 2
E154751003. 3
E154751004, 4

Question Number : 101 Question Id : 615475257 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mz 24.000 F41 6.000 1 FTEET AT 31 T FAN: 18 FFamie #1 f w fE 2 91 56 # A #E
AT T BT T8 & Tl g1 W B 7

(1) 3 T 1. (2) 4 TR
(3) 5 T4 (4) 6 T 41
Options:

E154751001. 1
B154751002 2
E154751003 3
E154751004, 4

Question Number : 102 Question Id : 615475258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e Market

Above given figure explains a particular model. choose the correct option from the below

(1) Weberian model (2) Central Place model
(3) Von Thuenenian model (4) Gravity model
Options:

£154751005. 1
6154751008, 2
E154751007, 3
E154751008. 4

Question Number : 102 Question Id : 615475258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o Market

I &9 U a5 giga i S #q1 2, 9 fawedi § O 52 fdsed 1 =997 Fifae

(1)  J9f=d gizd (2) T2 wIH HigA
(3)  9F FgHEA giza (4) Uazdl Aisd
Options:

E154751005 1
6154751006, 2
E154751007. 3
6154751003 4

Question Number : 103 Question Id : 615475259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Given below are the two statements. One 1= labelled as Assertion (A) and the other 1s labelled

as Reason (RH).

Aszertion (A):  Losch believed that price increase i1s the result of transport cost and by
rotating the demand curve around the production point *P°. the shape of

the market area 1s seen to be circular.

Reason (R) : Lésch treated each function having a separate range. threshold and

hexagonal hinterland.
Select the correct answer from option given below :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (4)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 15 true. but (R) 1s false

(4) (A) 1= false, but (R) 18 true

Options:
2154751009 1

E154751010 2



E154751011 3
6154751012 4

Question Number : 103 Question Id : 615475259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

oo

= 71w fou o 2, o uE w6 aiyEeA (A) o T R AR o w7 (R) o o2 e o

F2 0 H TE S G

ATFT (A) 9 AE o7 TR 9fEEa H S, S S w0 P % soig A3 9
(& r [l n o, [ Iy, - 3 & {

ISl 7

I A = N r\- - Pl i - ) ™ - ™
T+ (R) : 3O Tod=h Feld T YU TFE ATHINAG 3R FZHE TFEE 1 HAT

(1) =M1 (A) 377 (R) Te3 2 311 (R) (A) 1 T8 =9med F41 &

(2) =T (A) 31T (R) Te3 2, 371 &3 (R) (A) =1 T =71 98l 541 7

(3) (AT ? A (R) e 7

(4)  (A)7eR E A (R)EF 2

Options:

6154751009 1
£154751010. 2
6154751011, 2
6154751012, 4

Question Number : 104 Question Id : 615475260 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements. One 1s labelled as Ascsertion (A) and the other i1s labelled as
Reaszon (R).

Assertion (A) : Frontiers are transitions between geographical regions rather than states.

Reasons (R) : It 1= a manifestation of centripetal forces.
Select the correct answer from options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 15 falze. but (R) 1= true

Options:



E154751013. 1
6154751014 2
5154751015 3
E154751016. 4

Question Number : 104 Question Id : 615475260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hi=r 21 e fow o R, T o i i 2 i g o 21 e e e g 8 @ od s

HANTFET (A) - AU =41 + == T 84 & Faq10 S 9290 % 97 GEET 2 2|
% (R) T2 AR 5 i ATT=TE 2

(1) ZHET (A) T (R) B 2 311 (R) (A) F1 T3 =AW F44T 2
(2) (A) 3T (R) 3F1 T&l 2, o1 (R) (A) &1 T2 == 78 ¢
(3)  (A)TE 2 A (R) T4 B

(4) (A) A9 2 A (R) TF 2

Options:

6154751013 1
6154751014 2
6154751015 2
154751016, 4

Question Number : 105 Question Id : 615475261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who for the first time emphasized the 1importance of mental map of environment in decision
making process?

(1) D. Wood (2) 8.J. Gould
(3) D. Woodward (4) K. Lynch
Options:

61547510171
6154751018 2
6154751019 3
E154751020 4

Question Number : 105 Question Id : 615475261 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T =4 =7 Uisha § 93E00 & HFE GEE & e W e Tedl 91 a9 2317

(1 d.g8 (2) UL, Tieg

(3) 2. g3as (4) . o=



Options:

6154751017 1
154751018 2
5154751019 2
154751020, 4

Question Number : 106 Question Id : 615475262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following defined geography as a chorological science?

(1) F.Von. Richthofen (2) E. Huntington
(3) A. Hettner (4) F.Ratzel
Options:

51547510211
G154751022 2
6154751022 3
E154751024. 4

Question Number : 106 Question Id : 615475262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HHARgd H 3 a1 &1 FAEasd 3129 (Chorological Science) & &9 § THATNG =41 2 7

(1) UF. o9 feE=es (2) 2. e
(3) U T (4) UE. Y
Options:

51547510211
6154751022 2
6154751022 3
E154751024, 4

Question Number : 107 Question Id : 615475263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who described "quantitative revolution’ as a radical transformation of the spirit and purpose

of Geographyv?

(1) I. Burton (2) P. Haggett
(3) R. Chorley (4) O.H.K. Spate
Options:

61547510251
E154751026 2
E154751027. 3
E154751028. 4



Question Number : 107 Question Id : 615475263 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

RO T - %1 9 35599 31 ATY™ =1 d1F 9iadq & 9 ° aue = a7

1) IR & 2) . Fe
(3) AW, =T (4) 1.99.%. T2
Options:

BE154751025 1
6154751026 2
6154751027 3
6154751028 4

Question Number : 108 Question Id : 615475264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following electro-magnetic radiation (EMR) used in remote sensing. has the

shortest wavelength?

(1) Green (2) Red
(3) Blue (4) Infra red
Options:

BE1547510239. 1
6154751020 2
6154751021 3
E154751032. 4

Question Number : 108 Question Id : 615475264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T A 1 WG AeenEd FEdE geehE @ (EMR) B EH 70 9 ge #6027
(1) =] (2) <=

(3) AT (4) 39A 1= (Infra red)
Options:

E1547510239. 1
6154751020 2
5154751021 3
6154751032 4

Question Number : 109 Question Id : 615475265 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In a distribution function ¥ (x) of regression model. ¥ = a+bx +e. the error term is defined

as Te=0. Which one of the following equations is correct as Y. ¥ and Y denote g1ven
value, mean value and predicted value of dependent variable Y, respectively.

(1) E(Y—}_’)z[l (2) E{Y—I_"}zminimum
(3) E(Y—}})zﬂ (4) E{Y—];’] = minimum
Options:

515475103231
6154751024 2
6154751035 3
E154751036, 4

Question Number : 109 Question Id : 615475265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THIEAY (regression) i & Aa0-F@ Y(x) 3, Y=a+bx+e. I F Te=0. & T1 H qqva
forar e 2, Fifrd g G G FH W V.Y R Y # AW Y % A6 ET W R g 3R
AT = T30 MU gem 1 Ad w9 H [T #a

1 xy-¥)=o0 @2 z(v-Y)= =7
3  zly-v)=0 @ 3(y-Y)==Fm
Options:

515475103231
6154751024 2
6154751035 3
E154751036, 4

Question Number : 110 Question Id : 615475266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Rally for Valley' program in India was organized to highlight the problem of —

(1) Environmental degradation (2) Biodiversity
(3) Resettlement of displaced persons (4) Loss of agricultural land
Options:

E154751037. 1
6154751038 2
E154751039. 3
E154751040 4

Question Number : 110 Question Id : 615475266 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



g 8 A ST 3 Fw 50 gu= 1 3900 94 & 00 st e m

(1) i A (2) STt
(3)  Tararg =3l =1 Haw (4) F gig Fi

Options:

6154751027 1
6154751028 2
6154751029 3
6154751040, 4

Question Number : 111 Question 1d : 615475267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

During which five vear plan. Government of India adopted regional approach to agricultural
planning?

(1) Fifth Five Year Plan (2) Sixth Five Year Plan
(3) Eighth Five Year Plan (4) Tenth Five Year Plan
Options:

E154751041. 1
E154751042 2
5154751042 3
5154751044 4

Question Number : 111 Question Id : 615475267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafefea O 4 fm T=adia 99 % 20E, 9 TR i JEeE F 9 e i e
(1)  di=dEl T Je (2) B Tt AT

(3) =l T=EdE e (4) =OEl TEEEE T

Options:

61547510411
6154751042 2
E154751043 3
E154751044 4

Question Number : 112 Question Id : 615475268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following parameters are the basis of 'Fujita Scale’ for classifving tornadoes?

(a) Pressure Gradient (b) Temperature Gradient

(c) Wind speed (d) Related property damages

Choose the correct option :

(1) {a) and (b) (2)  (b) and (d)
(3) {c) and (d) (4}  {(a)and (d)
Options:

E154751045 1
6154751046 2
6154751047 3
6154751045 4

Question Number : 112 Question Id : 615475268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FeAEd 1 3 FH-0 9HE3 Z0s! 1 203 F F @0 T T F 2098 27
(a) =9 =HIF (b) 9 UZF

() = (d) Tetud FoI TFEE

-~ T-[ I-[ FT-_-?[ li-'il-h"""'l =Rl =& ﬁ{_ﬂn‘. .

(1)  (a) #W (b) (2)  (b) 3T (d)
(3) (c) 1 (d) 4) (a) 3 (d)
Options:

E154751045 1
E15475104E 2
6154751047 3
6154751045 4

Question Number : 113 Question 1d : 615475269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the correct option from the following terms regarding the formation of mid-latituide
cvelone,

(a) Pressure gradient zone (b) Coriolis force
(c) Surface friction

Options :

(1) (a) only (2) (b) only

(3) (c) only (4) (a). (b) and (c)
Options:

6154751049 1
E154751050 2



E154751051. 3
B154751052. 4

Question Number : 113 Question Id : 615475269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T ST Fhdld 94 = Hag § FEfdaigd 981 § 3 T8 98 =l 989 it
(a) EIEH S T 1 9

(b)  FINATAH T

(c) '3_'7:5- BRI

afatas § @ o faes =1 =9 fifae .

(1) 3 (a) (2) Fa= (b)
(3) A (c) (4) (a). (b) R (c)
Options:

E154751043 1
E154751050 2
E154751051. 3
B154751052. 4

Question Number : 114 Question 1d : 615475270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the followlng statements are correct regarding the definition of ‘census towns'

formulated by the Census of India?

(a) 75 percent of total working population should be engaged in agricultural activities
(b) Minimum population zize i1z 5.000 persons
(c) 75 percent of total males of main working population should be engaged in non-

agricultural activities

(d) Maximum population density 1z 400 persons per square kilometer

Select the correct option :

(1) (a) and (c) (2) (b)and (c)
(3) (b) and (d) (4) (a)and (d)
Options:

61547510521
E154751054 2
E154751055 3



E154751056. 4

Question Number : 114 Question Id : 615475270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HOE WTF S=A1 SR ST U IEYISF 9T SO 7S i IRt % 994 ¥ Fetengs 5 § 8 #E-H

FA A 27
(a) Taemm Fo e SEEn F 75 Wea 0 TaEreE § wer 2wy

(b) AT F gAGE SR 5,000 =F 7

(c) el 6T T FEUE FEE F 75% -0 FE § e w6 =

(d)  AlaFas FTEEE gae 400 = uid 7 A B

T EFeT T =

(1)  (a) 3 (b) (2) (b) 3T (c)
(3)  (b) #E (d) (4) (a) 3 (d)
Options:

51547510531
6154751054 2
E154751055 3
6154751056 4

Question Number : 115 Question Id : 615475271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Location of Lancashire cotton textile industry owes to the following favourable factors

(a) Humid climate and Soft water
(h) Banking and Financial Services
(c) Abundant coal availabihty

(d) Position of Laverpool in the Atlantic trade zone

Select the appropriate correct option :

(1) (a). (b) and (d)
(2) (a). (b) and (c)
(3) (a). (c) and (d)

(4) (b) and (c) only
Options:

1547510571
1547510588 2
154751059 2
154751060 4

Question Number : 115 Question Id : 615475271 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



SRR Felt 95 TAm i Al # g 39 FE 7

(a) 9 FeEd SR HE 9w
(b) i ¥R fada e

r

(c) 9T O O FEe 3 Sqasadl

(d) FZATEH = &5 5 JE-F’IE!T‘{T’T =1 fearfa

a3 9 "aitas 399 aed 1 =591 Hiraw
(1)  (a). (b) 3 (d)
(2)  (a). (b) 377 (c)
(3) (a). (c) 1 (d)

(4) I (b) FF ()

Options:

6154751057 1
154751058 2
£154751059 2
154751060, 4

Question Number : 116 Question Id : 615475272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match Last I with List IT and select the correct answer from the codes given below :

{a)
(b)
(c)
(d)

Choose the correct options from the following :

(1)
(2)
(3)
(4)

Options:

List I (Author)
John Palhiek
Stephen Trudgill
C.H. Crickmey
Charles Lyell

(a}-(1). (b)-(11). (c)-(111). (d)-(1v)
(a)-(m1). (b)-(1v). (e)-(1). (d)-(11)
(a)-(1v). (b)-(1m1). (e)-(11). (d)-(1)
(a)-(11). (b)-(1). (c)-(1v). (d)-(111)

E154751061. 1
B154r510682 2
154751062 3
6154751064, 4

(1)
(11)

(111)

(1v)

List IT (Works)
Introduction of coastal geomorphology
Limestone geomorphology
The work of the river

Principles of Geology

Question Number : 116 Question Id : 615475272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 1 g=ht-11 % =19 gHfea Fi=e 31 = e T 52 4 9 98 39 1 =26 Fife

{a)
(b)
(c)

(d)

Fr fou U F & wE fsen # =g Hif

(1)
(2)
(3)
(4)

Options:

#=1-1 (7
LR IEE
i v, Tl

-

e A0H

{a)-(1). (b)-(11), (e)-(111). (d)-(1v)
{a)-(111). (b)-(1v). (c)-(1). (d)-(12)
{a)-(1v), (b)-(111). (c)-(11). (d)-(1)
(a)-(11). (b)-(1). (c)-(1v). (d)-(1i1)

(1)
(11)
(111)

(1v)

Tt-11 (Fiaa)
21599 ¢ Feglel TR
AT TSR



E154751061. 1
B154r510682 2
E154751063. 3
E154751064, 4

Question Number : 117 Question Id : 615475273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The hypsographic curves illustrated in the following diagram expresses different stages of
basin development.

100 F

0% of basin height

7100

Relative area (%)

Choose the correct option out of the following for vouthful stage of basin development from
the above diagram :

(1) A (2) B
(3) C 4y D
Options:

E154751065. 1
E15475106E, 2
E154751067. 3
E154751068. 4

Question Number : 117 Question Id : 615475273 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A ARgd AnE § 3=es 9% (Hypsographic curve) A & T/ =+ aid =000 1 379=0F F441 2

100 F

0% of basin height

0 ) 7100
Relative area (%)

ST ANE H 6 F T i wEE = = F wE faswed w9

(1) A 2y B
(3) C 4 D
Options:

BE154751065. 1
B154751086. 2
E154751067. 3
6154751068 4

Question Number : 118 Question Id : 615475274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following List I with Last II.

List I (Isolines/points) List IT (Description)
(a) Amphidromic point (1) Line of equal stream velocity
(b) Isohaline (11) Places of equal rainfall
(c) Isovel (111) Places of equal salinity
(d) Isohytes (1v) The point of no tide

Choose the correct options from the following :

(1) (a)-(1). (b)-(111). (c)-(1v). (d)-(11)
(2) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)
(3) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(4) (a)-(1v). (b)-(111). {(¢)-(1). (d)-(11)

Options:

6154751069 1
E154751070. 2
6154751071, 2
6154751072, 4

Question Number : 118 Question Id ;: 615475274 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T=1-1 %1 g1-10 ° Fafed Frao
g1 (s T o) g1 (faa)
(a) IHTIEH fTsl?é (amphidromic point) (1) THE 9W =7 >
(b) == 1@ (Isohaline) (il) T9F F91 F T=E
(c) wrzEEe (Isovel) (iil) THE FEUET % TIH
(d) =wEet 7@ (Isohytes) (iv) 9W T=d T

Fr= fou A 7 wF e w1 T fi

(1) (a)-(1). (b)-(111). (c)-(1v). (d)-(11)
(2) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(3) {a)-(1v), (b)-(111). (c)-(11). (d)-(1)
(4) (a)-(av), (b)-(111). (c)-(1). (d)-(11)

Options:



E15475106%3. 1
6154751070 2
6154751071 3
E154751072 4

Question Number : 119 Question 1d : 615475275 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with Last IT :

Tast I Tast II

(Richter magnitude corresponding to

et Sele) highest intensity reached)

(a) VI Strong 1 T7-7.3
(h) VII Destructive 1) 49-54
(c) X Disastrous {1m1) above 8.1
(d) XII Catastrophic iv) 6.2

Choose the correct options from the following :

(1) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(2) (a)-(111). (b)-(1v). (¢)-(1). (d)-(11)
(3) (a)-(11). (b)-(1v). (c)-(1), (d)-(111)
(4) (a)-(1). (b)-(1), (c}-(111). (d)-(1v)
Options:

51547510731
6154751074 2
6154751075 3
6154751076 4

Question Number : 119 Question Id : 615475275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T=1-1 3 F=A-I1 =1 gea Firaw)

-1 H=-11
(Mercalli scale)
(a) VI riremeit @ 7-73
(b) VII fa=a= (i) 4.9-5.4
(¢) X femeft (i) 8.1% ==
(d) XII ge==rl (iv) 6.2

= o e ° ° TR I w1 94 i

(1) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(2) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)
(3) (a)-(11). (h)-(v). (c)-(1). (d)-(111)
(4) (a)-(1). (b)-(11). (¢)-(111). (d)-(1v)

Options:

6154751073 1
£154751074 2
6154751075, 2
6154751076, 4

Question Number : 120 Question Id : 615475276 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List I with List I1.

List I (Geological Era) List IT (Geological Period)
(a) Neozolc (1) Jurassic
(b) DMesozoic (1) Miocene
{(c) Cenozolc (mm) Pleistocene
(d) Paleozoic (1v) Silurian

Select the correct answer for the codes given below :

(1) (a)-(), (b)-(u). (c)-(iv). (d)-(11)
(2) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
(3) (a)-(11). (b)-(1m1), (c)-(1v). (d)-(1)
(4) (a)-(111). (b)-(1). (c)-(11). (d)-(1v)

Options:

6154751077 1
6154751078, 2
6154751079 2
154751020, 4

Question Number : 120 Question Id : 615475276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
711 =1 F=-11 B HHTed |

TA1-1 (¥ 3 77) T (g Tt wmfa)
(a) TATSIE® (T 1) SO
(b) wHESIES (FA ) (1) feifeE
(c) HHMEES (HHAETF) (i) et
(d) Uersis® T S (iv) foegfem

Fr fou o e | TE I oA

(1) (a)-(1). (b)-(11). (e)-(1v), (d)-(11}
(2) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
(3) (a)-(11). (b)-(u11}. (c)-(1v). (d)-(1)
(4) (a)-(111). (b)-(1). (c)-(11). (d)-(1v)

Options:



B154751077.1
6154751078 2
61547510759 3
6154751080, 4

Question Number : 121 Question Id : 615475277 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Match the scholars(List-I) with the theory / model / concept (List-1I) they propounded.

List-I (Scholar)

(a) J. Gottman (1)

(b) G.K. Zipf (11)
(¢) M. Jefferson (111)
(d) E. Burgess (1v)

Choose the correct option from below :

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)

(2) (a)-(1v). (b)-(1). (e)-(111). (d)-(11)

(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(1). (c)}-(1v). (d)-(111)
Options:

51547510811
E154751082. 2
6154751082 3
E154751084, 4

List-II (Theory / Model / Concept)
Rank =ize rule

Concentric zone

Primate city

Megalopolis

Question Number : 121 Question Id : 615475277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



g1 % AW 39 G TiquTied [HZia /AiSe / Aaam = qe gHied Hiae)

g1 (fagM) 111 (g /aize / s/Eamn)
(a) . TieHA (1) 1= OEd '
(b) <. TR (i) Hhgl &
(c) TUH, IFEA (ili) 99 (Y=HEZ) ;e
(d) = oaH (iv) Tovaaml (9Mediea)
TAtafgd § 9 9 faweq =1 =99 Fifau

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(1v). (b)-(1). (e)-(111). (d)-(11)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

(4) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)

Options:

6154751081 1
6154751082, 2
6154751083 3
154751024 4

Question Number : 122 Question Id : 615475278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the terms (List-I) used 1n industrial / manufacturing geographyv (List-II) with their

explanations :
(List-I) (Term) (List-II) (Explanation)

(a) Material Index (1) Ratio of Labour cost per unit of
product to the locational weight of that
umnit

(b) Isodapanes (1) Advantage of production due to
concentration of industry

{(c) Labour coefficient (m) Weight of localized material and the
welght of the product

(d) Agglomeration (1v) Laines of equal transport cost per tonne

Choose the correct option from below :

(1) (2)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(4) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
Options:

154751085, 1

154751086, =2

6154751087, 3
6154751058 4

Question Number : 122 Question Id : 615475278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT/ i i O 93 S HefafEa 92l #1396 = % @1 gaiad Fiian

11 (T8)
(a) HHH HAFE (HFA 32949) (1)
(b) HEEERT (i1)
(c) =M U= (1i1)
(d) T (1v)
MAfefias ¥ O 921 Teeg &1 =949 Sifau -

(1) (a)-(1. (b)-(11). (¢)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(4) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)

Options:

6154751085 1
6154751086, 2
154751087, 2
154751088, 4

T=-11 (o)

TATH 91 W14 AL

SN THE *F A0 3cATET A53AT
TR H|THHT =1 9F 317 3091 91

Uid 79 THE ZA1E AT i @

Question Number : 123 Question Id : 615475279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



Match the economy types (List-I) with their characteristic features (List-II).

List-I (Type of Economy) List-II (Characteristic features)

(a) Subsistence (1) Market-competition as the primary
force to shape production pattern

(b) Commercial (1) Self-sufficiency. low production. low
density of population

() Intensive subsistence (111) Self-sufficiencey. high production. high
density of population

(d) Extensive subsistence (iv) Lattle exchange of goods. only the
limited need for markets

Choose the correct option from below :

(1) (a)-(11). (b)-(111). (e)-(1). (d)-(1v)
(2) (a)-(1v). {(b)-(1). (¢)-(111). (d)-(11)
(3) (a)-(111). (b)-(11). (e)-(1v). (d)-(1)
(4) (a)-(1). (b)-(av). (e)-(111). (d)-(11)
Options:

5154751089, 1

6154751080, 2

5154751081 3
6154751032 4

Question Number : 123 Question 1d : 615475279 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT THE FI 301 [FR9AA1 F W gHierd Hian

-1 (=g % T T-I1 (Farsman)

(a) SIfg®1 ATEGNE (Subsistence) (1) IAET g 1 AR o4 § 997 SiEe9di
TAF o F1 FE FA1 2

by AT (i) ATH-FHA, FA 3G, T F OFA
PELS|

(c) TEA Sfifae (i) IeE-FdEr, wigs 3omed, S9EEm &=
ST T4

(d) fawga Sfifa (iv) TG 1 FH AEH-Y2H, =R Hia
TFT AT

Ffafgd § 4 T8l [d%e9 =1 =999 40 :

(1) (a)-(11). (b)-(m1). (c)-(1). (d)-(1v)
(2) (a)-(1v). (b)-(1). (¢)-(111). (d)-(11)
(3) (a)-(111), (b)-(11). (c)-(1v). (d)-(1)
(4) (a)-(1). (b)-(1v). (c)-(111). (d)-(11)

Options:

5154751089, 1

6154751090, 2

5154751081 3
6154751032 4

Question Number : 124 Question Id : 615475280 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following statements relating to Ratzel's concept of Lebensraum. 1s correct?

(a) It 1s the geographical area within which living organisms develop.
(b) It 1= the economic and cultural activity of the people outside their enclosed settled area.
(c) It deals with the relation between human societv and a spatial organization and 1its

phvsical setting.

(d) It 15 a geopolitical term which studies space from the view point of state.

Choose the correct option from below :

(1) {a). (b) and (c)
(2) {(b) and (c)
(3) (b). (c) and (d)

(4) (a) and (¢) only

Options:

6154751093 1
£154751094 2
6154751095 2
6154751096, 4

Question Number : 124 Question Id : 615475280 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



teae 1 FE-TE (HAfesam) F Fagnon F G99 § Feieiga 5 " F -8 FEE 96 a0

(a) 9% 9% ¥e® &9 & 99 ¥ g9ia (9%Ed 2 2

(b) == HIA I 97 NAF UH WEHGH M 2 T d A9 ey @9 ° 6 6 7
(c)  IF WA THTH AW THEl TA1HF Ta4 A7 306 Gifa® Fafeald & =g & 999 7

(d) T TF Y TSHGE TEAT | T F 52 W TE (T0E) FOASET A

(1)  (a). (b) ¥ (c)
(2) e (b) 3 (c)
(3 (). (c) FE (d)

(4)  =ad (a) FT (c)

Options:

6154751093 1
6154751094 2
5154751095 2
5154751096, 4

Question Number : 125 Question Id : 615475281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following Indian states (List-I) with their demographic characteristics (List-II).

List-I (State Name) List-II (Demograpic characteristics)
(a) Harvana (1) Largest population size
(by Eerala (1) Lowest child sex ratio
{(c) Mizoram (111) Highest sex ratio
(d) Uttar Pradezh (iv) Highest percentage share of urban
population

Choose the correct option from below :

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
Options:

6154751097 1

£154751098. 2

154751099 3

5154751100, 4

Question Number : 125 Question Id : 615475281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I % FETARad =21 1 391 FaeaHe Gemansii @y gafaq fifae

TA1-1 (T4 = ATH)

111 (S ETiega fawma)

(a) EHA (1)  HEgE T
(b) A (i) 799 T THIE
() Toamm (i) SAaFad TaE
(d) I g9 (iv) T2 S99 1 B9 gided
AHEtEd § O T8 e 1 =997 Fifau
(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)

Options:
154751097 1

E154751098. 2
B1547510939 3
5154751100 4

Question Number : 126 Question Id : 615475282 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following groups of landforms are erosional features?
(1) Stalagmites, Natural levees. Stacks. Talus

(2) Corrie. Yardang. Gorge. Sinkholes

(3) Natural bridges, Beaches, Eskers, Star dunes

(4) Flood plain. Morains. Calderas. ‘U’ shaped valley

Options:

6154751101, 1
6154751102, 2
154751103, 2
5154751104 4

Question Number : 126 Question Id : 615475282 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Y-SRI & FAREs T9a § W A T e [ 7 ?

(1)  Twgam (Stalagmites), TTHiaF odH, ¥, 20
(2) 29 =R, AEsF, WA, 9eRg (Sink holes)
(3)  WIFM® W4, 9ieiF (Beaches), 5792 9 %2 (Esker), WHAT 7] J (Star dunes)

(4) F7l (Flood plain), a5 (Moraine), FAasF= (Calderas) ‘U 311 =i =2l (U chape valley)

Options:

6154751101, 1
6154751102 2
154751102 2
6154751104, 4

Question Number : 127 Question Id : 615475283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How 1s stratified sampling carried out?

(1) Divide the population into homogeneous groups and select equally but randomly
(2) Assign numbers to the population by selecting the numbers
(3) Divide the population itself into random groups and select equally from each group
(4) Made sample of elements which are randomly selected from the population

Options:

£154751105. 1
E154751106, 2
E154751107 3
5154751108 4

Question Number : 127 Question Id : 615475283 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

it Ttaeet (Sampling) F4 i 5w 27

(1) =+ 1 997 9971 § #12d 7 398 399 | ¥ 5 99F 9 § W a5s® =9 ¥ (randomly)

T 7

(2)  SEEE E EEAE H A A A S S e

(3) ST F] A eo® 9 H THE H 291 HR T 998 5 H T w5l

(4)  EEN F UF 9 UMEH AR A S g4 Aniea® B9 H e

Options:
6154751105 1



E154751106 2
5154751107 3
5154751108 4

Question Number : 128 Question 1d : 615475284 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s the correct sequence from land to sea?

(1) Continental slope. Sea plain. Ocean deeps. Continental shelf
(2) Continental shelf. Continental slope. Sea plain. Ocean deeps
(3) Ocean deeps. Sea plain. Continental slope. Continental shelf
(4) Sea plain. Ocean deeps. Continental slope. Continental shelf
Options:

E1547511059. 1
6154751110 2
6154751111 2
E15475111% 4

Question Number : 128 Question Id : 615475284 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

M= O 4 -9 4 99z + 0 #1173 T8 27

(1) WA 219, 9951 H2H, HEHPR T8, Halgid 3

(2) WA 9=F, GEgNE 2, T3 g, HEErE TEE

(3)  HETIN TEE, HHEl HeM, WElgMHA 2, HEgne e

(4) g HeM. WETENE e, Oeard 2T, Oegg 35

Options:

6154751109 1
6154751110, 2
154751111, 2
6154751112 4

Question Number : 129 Question Id : 615475285 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following eroups 1s correct. in chronological order of the conferences /

protocols / agreements on climate change held at global level?

(1) Agenda 21, Kyoto protocol. Paris Agreement. The Tenth Conference of Parties (COP-—
10) of UNFCCC

(2) The Tenth Conference of Parties of UNFCCC (COP-10). Paris Agreement. Kyvoto
Protocol. Agenda 21

(3) Agenda 21. Evoto Protocol. The Tenth Conference of Parties (COP-10) of UNFCC,
Paris Agreement

(4) Kvoto Protocol. Agenda 21. Pariz Agreement. the Tenth Conference of Parties
(COP-10) of UNFCC

Options:

5154751113 1
6154751114 2
6154751115 3
154751116 4

Question Number : 129 Question Id : 615475285 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
dfveash TR W Aed] TEdd W A 30 HeH] /TR AuEd § Hetad it 0 0w o

(1) T2l 21, FE1 UeEd, T8 TOar, UNFCCC % =41 (COP-10) = 2991 TtieH
(2) UNFCCC & =41 (COP-10) F1 =091 o, JHH Tuiar, #6271 e, Ta=2l-21
(3) TS2] 21. FE R, UNFCCC % =1 (COP-10) &1 2091 Tl«{, g ogia
(4) TTE] WElhie, T2 21, 978 Augiar 3 UNFCCC % =i (COP-10) =l 204l T+

Options:

6154751113 1
6154751114 2
154751115 =2
154751116 4

Question Number : 130 Question Id : 615475286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which 1s the correct chreonological order of the events pertaining to Family Welfare

Programme in India?

(1) Maternal and Child Health Programme (MCH). Reproductive and Child Health
Programme (RCH). National Rural Health Mission (NREHM). Child Survival and Safe
Motherhood Programme (CSSM)

(2) Maternal and Child Health Programme (MCH). Child Survival and Safe Motherhood

Programme (CSSM). Reproductive and Child Health Programme (RCH). National
Rural Health Mission (NRHM)

(3) Child Survival and Safe Motherhood Programme (CSSM). Reproductive and Child
Health Programme (RCH). National Rural Health Mission (NRHM). Maternal and
Child Health Programme (MCH)

(4) Child Survival and Safe Motherhood Programme (CSSM). National Rural Health
Miszion (NRHM), Reproductive and Child Health Programme (RCH). Maternal and
Childe Health Programme (MCH)

Options:

6154751117 1
154751118 2
5154751119 2
6154751120 4

Question Number : 130 Question Id ;: 615475286 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TaN Feam FEEE § GaiaT 9213 J Gr-ad HEed 02 B § i J31 09 A9 F6 T8 87

(1) WY 9 &1 e FEEg (MCH), W94 9 oel T ®rsy (RCH). g i e fvH

(NRHM), &< 3atsiiadl (Survival) 9 Tifdd 1ged FE% (CSSM)

(2) U 9 7 W@ FEFEE (MCH). 91 SEiEd (Survival) 7 Tad A19ed FEFE (CSSM).

T4 @ 91 WEeT :E%HE (RCH), TE THm =iy eE (NRHM)

(3)  ®Me InTaligdl @ Y& Higed #EHE (CSSM). T4 @ 1 T %r%d (RCH). Tg™ JrHm

A 9 (NRHM), 919 3 91 =02 FE%8 (MCH)

(4) A IAEEA T GHAT T FEFEA (CSSM), T8 Jron ey fove (NRHM). Y934 F 91

T FEEE (RCH). A d & Tam2d ®E#d (MCH)



Options:

61547511171
154751118 2
5154751119 2
6154751120, 4

Question Number : 131 Question Id : 615475287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following methods of delineating crop combination regions in order of their
appearance :

(a) Do1's method (b) Rafiullah’s method
(c) Weaver's method (d) Coppock’s method

Choose the code from the below :

(1) (a). (b). (c). (d) (2) (b). (c). (d). (a)
(3) (c). (b). (a). (d) (4) (d). (). (b). (a)
Options:

1547511211
6154751122 2
6154751123 3
6154751124 4

Question Number : 131 Question Id : 615475287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

O TATE =1 1 a0 1 gl eeiad AEE #3999 Fd F F0 0 SA4gisd i

(a) 3E - famg (b) ThiseaE - fafg
(e) Fran- [y (d) FMEH- 3G
freifafiaa § 4 o B2 F1 9 T

(1) (a). (b). (c). (d) (2)  (b). (c). (d). (a)
(3 (c). (b). (a). (d) (4) (d). (c). (b). (&)
Options:

51547511211
6154751122 2
6154751122 3
6154751124 4

Question Number : 132 Question Id : 615475288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Schedule Caste (SC) population had a high concentration in following five States of India in
2011. Identify the correct descending order of SC population size 1n these States.

(1) Uttar Pradesh. Bithar. West Bengal. Tamil Nadu. Andhra Pradesh
(2) Uttar Pradesh. Tamil Nadu. Andhra Pradesh. Bihar. West-Bengal
(3) Uttar Pradesh. Wezat Bengal, Bihar, Tamil Nadu. Andhra Pradesh
(4) West Bengal. Uttar Pradesh. Andhra Pradesh. Bihar. Tamil Nadu

Options:
61547511251

E154751126 2
BE154751127. 3
5154751128 4

Question Number : 132 Question Id : 615475288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
GRE F fefehad Ot T § AT e SR # RS st 2| ad 2011 F ST %
HEN, 37 U1 H S| FA6EA1 % AFR + AGE W FEieigd § 3 G961 FEE-% 6 Teee S|

(1) 37 ugm, fo=r, ufe=m ame, afaes, s aem
(2) I Wew, Aberg, oy wew, faEw, ufvem e
(3) =R Wom, wivem wne, SRR, Afers, Y e
(4)  ofy=m oTE, I IR, A w2, EER, 9beng

Options:

6154751125, 1

6154751126, 2

BE154751127. 3
BE154751128. 4

Question Number : 133 Question Id : 615475289 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The percentage share of Muslim population to total population in following five State 15 high
as per 2011 census data. Identify the correct descending order of these states in shares of
Mushm population.

(1) Uttar Pradesh. Assam. Kerala. West Bengal. Jammu and Kashmir
(2) Jammu and Kashmir. Assam. West Bengal. Kerala. Uttar Pradesh
(3) Jammu and Kashmir. West Bengal. Assam. Kerala. Uttar Pradesh
(4) West Bengal. Assam. Jammu and Kashmir. Kerala. Uttar Pradesh

Options:

6154751129 1

6154751120 2

6154751121 3

154751122 4



Question Number : 133 Question Id : 615475289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2011 # FFVH AHe *F FIAN, HEAEREd 99 T 0 F JHEe § g S9EE # 9iaea
Bl 31 Fa wiaw 2| giem s i geEiad FEEd % d9ed 0 31 T % OE A9E w0 F
TR a0

(1) I 991, 3799, +d, a0 907, Jg-F7a0
(2)  TH-FYEN, FGE, GG T, A, ITW TG

(3)  T-FYHR, U= 9, 370, Fd, I 9L
(4)  OfT= ST, U, S-FYHR, HA, I

Options:
61547511259 1

E154751120 2
E154751121. 3
5154751132 4

Question Number : 134 Question 1d : 615475290 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following sequences of decreasing average annual rainfall 1s correct?

(1) Uttar Pradesh. Bihar. Harvana. Assam
(2) Assam. Bihar. Uttar Pradesh. Harvana
(3) Harvana. Uttar Pradesh. Bihar. Assam
(4) Assam, Bihar. Harvana. Uttar Pradesh
Options:

6154751123 1

6154751124 2

6154751135 3
61547511356 4

Question Number : 134 Question Id : 615475290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

uedi 22 3iga aidE gfe % ged § Fefafaa § & Fe-u w0 w2

(1) 3 w9, fagm, =i, 3mm (2) @y, TEER, 39 gem, EfEmm
(3) ZTON, 37 Uoo, fe9er, 3190 (4) oW, faEm, gfEmm, 39 92T
Options:

51547511321
6154751134 2
£154751135 3
E154751136. 4



Question Number : 135 Question Id : 615475291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which cne of the following decreasing order of altitude (from NE to SW) of mountain ranges
in Jammu and Kashmir state 1z correct?

(1) Laddakh. Pir Panjal. Zanskar. Shawalik
(2) Pir Panjal. Laddakh. Zanskar. Shawalik
(3 Laddakh. Zanskar. Pir Panjal. Shiwalik
(4) Laddakh. Shawalik. Zanskar, Pir Panjal
Options:

6154751127 1

6154751128 2

5154751139 3
5154751140 4

Question Number : 135 Question 1d : 615475291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9 g FYHR 77 § sEfa fearem ff v gEensd F 39 F AR W S 929 g0 F (- A
zfeu afv=m) & "oy § Fefafaa § O =9-a1 w0 o8 27

(1)  =erg Traare, Jme, foafas (2) TTE, FeRg, TEE, e
{3} AT ; "- - 5 E~I = 3 rx. il;-. - [4} ST e - o : ‘-- = - I._
Options:

1547511371
6154751138 2
E154751139 3
E154751140 4

Question Number : 136 Question Id : 615475292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1= labelled as Assertion (A) and the other is labelled as

Reaszon (R).
Assertion (A):  Melting of floating icebergs will have a big impact on sea level.
Reasons (R) : 90% of 1cebergs =ink 1nto sea water.

Select the correct answer from options given below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(3) (A) 1= true, but (R) 1= false

(4) (A) 1= false. but (R) 1s true
Options:
1547511411
154751142 2
154751142 =2
£154751144 4

Question Number : 136 Question Id : 615475292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



9 31 %A far MU E - U D ATERY (A) AR g8 F 9% (R) FE T2

AR (A) Al T % e O amisF T W 981 994 927

T (R) : ATt femstar =1 90% W Uyg 9« H g4 &1 2

ITE SHI FEE] F S T T faHed T HAC

(1) (A) 3 (R) ZHT T2 & 997 (R). (A) 1 Hel =441 2
(2) (A) 3R (R) 3HE1 @&l 2 741 (R). (A) F1 Hal =401 981 2
(3)  (A)TE 2, WA (R) T 2

(4)  (A) 7 2, T (R) TET 2

Options:

5154751141 1
6154751142 2
51547511432 =
5154751144 4

Question Number : 137 Question Id : 615475293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1s labelled as Assertion (A) and the other 1 labelled as

Reason (R).

Assertion (A) : The animals at the end of the food chain have to roam over large areas to

obtain their food.

Eeaszons (R) : The quantity of energy increases down the chain away from the plants

Select the correct answer from options given below:

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) 1z not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 1s false. but (R) 1= true

Options:

5154751145 1
6154751146 2
6154751147 3
5154751148 4

Question Number : 137 Question Id : 615475293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F= 7 FeA A M E - U W AR (A) #E gE F T (R) A TR

ATFT (A) SRR JEET F A9 § AEA @ R A9 SRR 9 FH F o w5 oaS a9 0

w ’}J;..; ' ]:_1;: | T;’:l

% (R) : ST @ o i g@e § Ful i 5 el 2

I T FYAT F SR | @R e 9 S

(1) (A) 3R (R) =1 51 & 791 (R). (A) F1 T2 == 2
(2)  (A) #R(R) A TE E a0 (R). (A) F TF1 = T8 2
(3) (AT 2, wg (R) T4 &

(4) (AT 2, T (R) TRl 2

Options:

6154751145 1
6154751146 2
5154751147 2
5154751148 4

Question Number : 138 Question Id : 615475294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Gilven below are two statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).
Assertion (A):  Most of the developing countries in the world have progressive population
Reasons (R) : The developing countries recorded dechining fertility rate and high

mortality rate

Select the correct answer from options given below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) 18 not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 1s falze. but (R) 1= true

Options:

6154751149 1
£154751150. 2
154751151, 2
6154751152 4

Question Number : 138 Question Id : 615475294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



d 81 #9A feu MU E - U D AfYEYE (A) AR ZE w96 (R) a2

ATTRT (A) - faga & wifusis famsfiar &5 it S99 § 9me 9 T @ 2
TF (R) : ferhrefiet 3o § el 28 970 & 3R 3= geg &1 g9 Wl T 2
(1) (A) 3T (R) ZHT TEl £ 9471 (R). (A) FiI T =90=41 2

(2) (A) T (R) 3HT T8l £ 991 (R). (A) Fil T2l =Iv=w 21 2

(3)  (A)TE 2, A (R) T4 B

(4) (A) o9 &, Td (R) 78T 2

Options:

5154751149 1
6154751150 2
6154751151, 3
6154751152 4

Question Number : 139 Question Id : 615475295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A) : The agropolitan approach to regional development postulated that rural
development could be best pursued by linking 1t to urban development at
the local level.

Reasons (R) : The decentralization. democratization and participation were taken as the

key factors in agropolitan approach to regional development.

Select the correct answer from options given below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) ig not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 15 falze. but (R) 12 true

Options:

6154751153 1
6154751154 2
154751155 2
6154751156 4

Question Number : 139 Question Id : 615475295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hl 21 F9F 190 70 & — U 1 AWHYT (A) AR GE T T (R) gl T8
ATFIA (A) : A [ % e R § A2 9o @ % Wi fose waihsd w=e e o
T T <1 T 2 3 30 T T w sl 9w F g g e A

T (R) : 2T 9 7d TOMIAe SR § OET FR% % &9 § b, Arhaars 3R

qUfiert =1 formn ST 21

Hefeigd § O 921 999 =1 =999 $ifau
(1) (A) 3R (R) 3H1 Tl & 791 (R). (A) F1 ¥l =30 2
(2)  (A) 3T (R) ZH T E a4 (R). (A) F TE = T8 2
(3) (A)TH 2, T (R) T4 2
(4) (A 7ed 2, T (R) T& 2

Options:

6154751153, 1

6154751154, 2

6154751155 3
6154751156 4

Question Number : 140 Question Id : 615475296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(Given below are two statements — one 1s labelled as Assertion (A) and the other 1z labelled as

Reaszon (R).
Assertion (A):  Rayvleigh scattering is responsible for the blue colour of the sky.
Reasons (R) : Rayleigh scattering occurs. when atmospheric particles have diameters

that are small relative to the wavelength of radiation

Select the correct answer from options given below:

(1) Both (A) and (R) are true and (R) 1z the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (4)
(3) (A) 1s true. but (R) 1s false

(4) (A) 1= false. but (R) 18 true

Options:

6154751157 1
6154751158 2
6154751159 3
154751160 4

Question Number : 140 Question Id : 615475296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e 21 e o e F - u T sfaseE (A) ¥ gE # 9 (R) FaE T R

ATTFL (A) 5 TR ST A T % e e 2
% (R) : i TRUE e gied 7T 2 96 aEHSEE F S A o aeeed i qen |

SUET AF1 FUA F OATAE B TE AT H 99 e

(1)  (A) 3% (R) 541 =81 2 72 (R). (A) F 581 == 2
(2)  (A) 3R (R) =F1 T2t 2 @2 (R). (A) Fi 721 =amen 481 2
(3) (A=A ?, wg R) T #

(4) (A 7Ted 7, 9 (R) TFl 2
Options:

61547511571

6154751158 2

6154751159 3

6154751160 4

Sub-Section Number: 2
Sub-Section I1d: 61547513
Question Shuffling Allowed : Yes

Question Id : 615475297 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cestion Label | Comprehiension

Read the passage and answer question that follow,

In the analysis of factors affecting demand and revenue. Smith confirmed to the deviation of
total sales and revenue for a single firm at a given location. "But the volume of the demand
cone and hence the total revenue obtainable can vary among possible locations in accordance
with varations in any of the cost and demand conditions involved. In real world 1t 12 unhkely
that population density. production costs. transport rates. demand functions and the hike will
remain fixed over anvthing other than a verv small area.... . It 1s important to add to the
general locational principles... . Changes 1n the variables affecting cost and revenue will
bring about changes in the prevailing cost/revenue situation. and thus changes in the

comparative economic advantage of alternative locations.

Sub questions



Question Number : 141 Question Id : 615475298 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following statements 1s correct for sale of goods within market area in a

region?

(1) Sale 12 the function of household demand

(2) Sale 12 the function of household income

(3) Sale 1s the function of household investment
(4) Sale 1s the function of household consumption
Options:

61547511611
6154751162 2
E154751163. 3
E154751164 4

Question Number : 142 Question Id : 615475299 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following varmables influencing industry/firm 1s correct for the change n
cost of a firm to supply goods to 1ts market area in spatial perspetive?

(1) Climate change (2) Change in management of firm
(3) Change 1n machine costs (4) Change in transport costs
Options:

E154751165. 1
6154751166 2
E154r51167. 3
E154751168. 4

Question Number : 143 Question Id : 615475300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following relationship between cost and revenue of a firm within
market area 1s correct?

(1) Highly possitive (2) Possitive
(3) Negative (4) No relationship
Options:

5154751165 1
6154751170 2
6154751171 3
E154751172 4

Question Number : 144 Question Id : 615475301 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following trend of delivered costs (Plant cost plus supply cost) with
reference to demanded gquantity within market area 1s correct?

(1) Increasing (2) Decreasing
(3) Constant (4) Irregular
Options:

51547511721
6154751174 2
6154751175 3
E154751176. 4

Question Number : 145 Question Id : 615475302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following locational decision of a firm. to take comparative advantage
within market area. 1s correct when prices of goods produced by the firm increase?

(1) No-machine cost change (2) No-location change
(3) Search for alternative location (4) Search for alternative inputs
Options:

51547511771
6154751178 2
6154751179 3
6154751180, 4

Question Id : 615475297 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension

ettt aftegs =t ggwt 7oAt o T A

oy 3 = S T R T9TEE B = R S e 5, [ TE W R v 9w % e e

fashl ofit T  Toge =i Aty e 2| g afafza et i s st g fegfaai o gfads = T

TG T = AW wF A SR 36 UHR H el U AHE T9E GREtd w1 @9 2 T

[ A i e S i~ -~ o~ - 4 = - r
=] QﬂiE[;ﬁ Sigd H U &1 &1l T T9E H iq. 5 =T 2SR SHEHEEAT 990d, 3cdTeA oI, TATE

o, A W HT UHT A= e TR S T L . . L | W S g 3 HEeayY # | S
HE T B WHNGT A 90 0 UREed [HEEE e e U 9 9ged o, $JR 36 THE

—

T T F GEACEF ATAF =9 § TREed wm |t

Sub questions

Question Number : 141 Question Id : 615475298 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



efafEd § @ =HE-T1 %21 5 9= &9 § g i 30 % o s oed b w8 27
(2)  TeEhl, 9] A AT 99 BT 2

(4)  Tashl, 9% 399 W HEE HAT 2
Options:
61547511611
6154751162 2
E154751162 =
6154751164 4

Question Number : 142 Question Id : 615475299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEM/FH = FATEd TGl engd 5 § FE-31 =€ B FH % 36E a9E aF § J0E A9 w0 F
FH =l AR § IREdA 8d $ATHE Hed O Ha 87

(1) <T@ e (2) HH % TEeH § Ufiadd
(3)  wEfA F A H qiE (4) TR AvE F TiEd
Options:

61547511651
6154751166, 2
E154751167. 3
E154751165. 4

Question Number : 143 Question Id : 615475300 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ST 20 % st Fref ol ) A it e ¥ o e el § et 1 Fem w2

(1) 37 =A%a® (2) HHETF
(3)  HOTHF (4) IE 99 TE
Options:

E1547511659. 1
B15475117°0 2
5154751171 3
6154751172 4

Question Number : 144 Question Id : 615475301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AR & % a9 T2 W Hed § 7 (feefag) 9re (9 ArE A3R ard |ma # oA #i
Fefafad §  :H-H vgh o8 37

(1)  =edl & (2) =l
(3) fom (4) wFEfE
Options:

£154751173. 1
6154751174 2
E154751175 3
BE154751176 4

Question Number : 145 Question Id ;: 615475302 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
IR & T g0 A1 o4 o A o w w fefataad § 7 #E-a wnfas o od 2, 99wl g
IeTIEd Al F g4 § Jhg 2 @ AT

(1)  OIfF 9rE § =2 9igdq T8 (2) THE TIH TEGT T8
(3)  TFTF TE F G (4) THTE ATEH & T
Options:

E154751177.1
E154751178 2
61547511759 3
6154751180 4

Sub-Section Number: 3
Sub-Section 1d: 61547514
Question Shuffling Allowed : Yes

Question Id : 615475303 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label @ Comprehension

Read the passage below and answer questions that follow.

“A powerful manifestation of the earth atmosphere energy budget and moisture system 1s the
tropical cyclone. which orginates entirely with in tropical air masses. The tropics extends
from the Tropic of Cancer at 23.5°N. to the Tropic of Capricorn at 23'5°S containing the
equitorial zone between 10°N and 10°S. Approximately 80 tropical cvclones occur annually
world wide. Some are powerful enough to be classified as hurricanes and typhoons. Cyclonic
svstems forming in the tropics are quite different from nud latitude cyvelones because the air
of the tropics 1= essentially homogeneous. with no fronts or conflicting air masses. Tropical
depressions Intensity into tropical storms as they cross the Atlantic. A rule of thumb has
emerged: If they mature early along their track. they tend to curve northward towards the
North Atlantic and miss the United States. The critical position i1s approximately 40° W
longitudes. Officially. tropical cvelone season 1s from June 1 to November 30 each vear”.

Sub questions



Question Number : 146 Question Id : 615475304 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Whach of the following statements are correct?

(a) There are numerous forms of tropical cyvclones which vary in shape. size. velocity and
weather conditions.

(b) Tropical cyclones become more vigorous and move with verv high velocity over the
Oceans.
(c) The centre of the cyclone 1s characterized by extremely high pressure.
(d) The tracks of tropical cyvclones are similar in different parts.
Select the correct answer from options given below:
(1) {a). (b) and (d) (2) Only (a)
(3) (a) and (b) (4) (a). (b) and (c)
Options:

51547511811
6154751182 2
6154751182 =
E154751184. 4

Question Number : 147 Question Id : 615475305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements 1z not true for tropical cyvclones?

(a) The tropical cvelones move from East to West direction under the influence of trade
winds.

(b) Tropical cyvclones are not a disastrous hazards in tropical region.

(c) Tropical cyclones usually develop 1n the vieimity of ITCZ.

(d) Tropical cyclones become weak and feeble while moving over the land areas.

Options :

(1) {a) and (b)
(2) Only (b)
(3) (a) and (d)

(4) Only (d)
Options:
61547511851
6154751186 2
6154751187 2
61547511858 4

Question Number : 148 Question Id : 615475306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The tropical depression gets intensifies into tropical storms after crossing —

(1) Greenland
(2) Arctic Ocean
(3) Atlantic Ocean
(4) Pacific Ocean
Options:
6154751189 1
154751190 2

E154751191. 3
E154751192 4

Question Number : 149 Question Id : 615475307 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
From which of the following longitudes. the tropical storms tend to curve northward toward

the North Atlantic. missing the United States?

(1) 10°W (2} 20°W
(3) 30° W (4) 40°W
Options:

515475115931
6154751194 2
6154751135 3
61547511396 4

Question Number : 150 Question Id : 615475308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Typically. the maximum number of tropical cyclones annually occur during —

(1) June 5 — November 25
(2) July 1 — November 30
(3 June 29 — December 5

(4) June 1 — November 30

Options:

6154751197 1
154751198 2
5154751199 2
154751200, 4

Question Id : 615475303 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (146 to 150)
Juestion Label - Comprehension
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